UGC NET 2021 Oriya

Topic:- Oriya_SHAAN_NOV21A

1) 'RIedl AITRIABER 689 g9 6MEIT ?

[Question ID = 1199][Question Description = S2_qSNz_PG_ORI_QO01]
1. 9L RELI [Option ID = 4793]

2. (129 YRIGY [Option ID = 4794]

3. 9QQQ AU [Option ID = 4795]

4, AR ARYCKAUFIX RELIL [Option ID = 4796]

Correct Answer :-
o IG5 Gl [Option ID = 4793]

2) '@C160 6MEIT oM S QUGS - IR QILIQ QSR ?

[Question ID = 1200][Question Description = S2_qSNz_PG_ORI_Q02]
1. @91g12l Q19 [Option ID = 4797]

2. IR Q19 [Option ID = 4798]

3. GQIeQ QI9 [Option ID = 4799]

4. AFYGISL |19 [Option ID = 4800]

Correct Answer :-
e @Wolgld QI [Option ID = 4797]

3) 'AYYFUN'Q AHS| @9?

[Question ID = 1201][Question Description = S2_qSNz_PG_ORI_Q03]
1. @9112l 919 [Option ID = 4801]

2. SRAUE QI [Option ID = 4802]

3. 2APYGIRS K19 [Option ID = 4803]

4. 65198 QI9 [Option ID = 4804]

Correct Answer :-
* @olgld QI [Option ID = 4801]

4) ‘6olA6RR’ RIS QSAS| G 9?[Question ID = 1202][Question
Description = S2_qSNz_PG_ORI_Q04]

1. @94°g 694l [Option ID = 4805]

2. 2GS Q19 [Option ID = 4806]



3. QIZ] €199% [Option ID = 4807]
4. QIS99 Qi< [Option ID = 4808]

Correct Answer :-
o QQZ°T 694 [Option ID = 4805]

5) ‘GQFR A°ECI, 6QYIGC L°ECI B TR D°LEI'QA 97 §9 ?

[Question ID = 1203][Question Description = S2_qSNz_PG_ORI_QO05]
1. SRS QL [Option ID = 4809]

2. AGYSIRE K1 [Option ID = 4810]

3. @692 Q19 [Option ID = 4811]

4. 64192 Q1€ [Option ID = 4812]

Correct Answer :-
e QMAUL QI [Option ID = 4809]

6) ‘9IS TANE’ R LG F9?

[Question ID = 1204][Question Description = S2_qSNz_PG_ORI_QO06]
1. QIR QUM [Option ID = 4813]

2. SRR’ 996G [Option ID = 4814]

3. J90& F1LI4IG [Option ID = 4815]

4. @1R%4 <QI9 [Option ID = 4816]

Correct Answer :-
e QIR FQURIA [Option ID = 4813]

7) Sl @A QR ‘QFIFL’ 6 AITRYLR AR ‘1IN’ QEISPGG?@'
@IYER QQ‘@ ?[Question ID = 1205][Question Description =
S2_qSNz_PG_ORI_QO07]

1. 6991 QG [Option ID = 4817]

2. 621596519 9L [Option ID = 4818]

3. gRQl 96l [Option ID = 4819]

4. QL6MSI [Option ID = 4820]

Correct Answer :-
o 69d¢ QT [Option ID = 4817]

8) “ALIFRY 64 6RUISRY | 6RUISR RIS OR QA

OmMQ AN e | AlgIN BRIQ KT 11 ”- 9T 997 689 g 2dIMe
?

[Question ID = 1206][Question Description = S2_qSNz_PG_ORI_QO08]
1. QUGG [Option ID = 4821]
2. §J8Y 9°Q%! [Option ID = 4822]



3. @RIQGI [Option ID = 4823]
4. QIQSg 1! [Option ID = 4824]

Correct Answer :-
* WIS [Option ID = 4821]

9) 69Q% €018 AFFIANT LRS! 818 ?[Question ID = 1207]
[Question Description = S2_qSNz_PG_ORI_Q09]

1. 2ARYGR GG FISUIKU [Option ID = 4825]

2. 962 9YQI9 9% [Option ID = 4826]

3. 91901 QIFGY- 99 2kILe [Option ID = 4827]

4. RRIQY [Option ID = 4828]

Correct Answer :-
. EIIQLQ‘Q G@EII @IUIU [Option ID = 4825]

10) G€ g9RYER RIQ 689G FILIAIE MR AITFA ?[Question ID =
1208][Question Description = S2_qSNz_PG_ORI_Q10]

1. AR AXKIQ [Option ID = 4829]

2. JIS6SR [Option ID = 4830]

3. J@¢Ig SIS [Option ID = 4831]

4. QIS4 [Option ID = 4832]

Correct Answer :-
o UM AKX [Option ID = 4829]

11) 69Q QG QISY 99Iee £5gdY §IFQ QeQ! ?
A. Z9I% QQIF)e MENT

B. 687 SRIGY

C. SNIFIQIEQILS

D. Y9IF QLIF|e QAN

0 Q9% 108 a9

[Question ID = 1209][Question Description = S2_qSNz_PG_ORI_Q11]
1. A @ B [Option ID = 4833]
2. B B C [Option ID = 4834]
3. C B D [Option ID = 4835]
4. A B D [Option ID = 4836]

Correct Answer :-
e A (B [Option ID = 4833]



12) 699 9QAF QAL QeI ?
A. 2096219

B. 24IFIQ A°EG|

C. ALIRUSYRISI

D. fleggeNg!

0 Q0T SIN6 a9

[Question ID = 1210][Question Description = S2_qSNz_PG_ORI_Q12]
1. A B B [Option ID = 4837]
2. B B C [Option ID = 4838]
3. C B D [Option ID = 4839]
4. A B D [Option ID = 4840]

Correct Answer :-
e A BB [Option ID = 4837]

13) B@6I6Q 9IRS G162 €@ 69Q AT FIF6Q AAGE ?
A. 9GedIeg

B. GJSIAS

C. 6§)GAIIS

D. SISUKIUAS]

0 Q0T fINE aau

[Question ID = 1211][Question Description = S2_qSNz_PG_ORI_Q13]
1. A B B [Option ID = 4841]
2. B B C [Option ID = 4842]
3. C B D [Option ID = 4843]
4. A B D [Option ID = 4844]

Correct Answer :-
e A BB [Option ID = 4841]

14) 699 Q0% QIFES QIeY ?
A. QUEES1

B. SRISQES

C. 62619131

D. SI9QYEl



0% QA S50 S

[Question ID = 1212][Question Description = S2_qSNz_PG_ORI_Q14]
1. A B B [Option ID = 4845]
2. B B D [Option ID = 4846]
3. C B D [Option ID = 4847]
4. A B C [Option ID = 4848]

Correct Answer :-
e A BB [Option ID = 4845]

15) 69Q QG AQUCILLT QSR ?
A. RO@ENGI

B. 6§lQIglel @I9I9E

C. §ie gequea

D. egsliga

0 Q0T SINE Qo

[Question ID = 1213][Question Description = S2_qSNz_PG_ORI_Q15]
1. A B B [Option ID = 4849]
2. B 3 C [Option ID = 4850]
3. AB D [Option ID = 4851]
4. C B D [Option ID = 4852]

Correct Answer :-
e A BB [Option ID = 4849]

16) @oIgl2 {19, Y65 919, SRAIA QI B AGYSIFS 19T AGAIA
Q2969 9KIR 6me |

A. @199€g

B. ¢RIl

C. 24N A°ECI

D. 2FAQESNG!

0 QA% a8IE a9 |

[Question ID = 1214][Question Description = S2_qSNz_PG_ORI_Q16]
1. A, B, C, D [Option ID = 4853]
2. B, D, A, C [Option ID = 4854]
3.C, B, D, A [Option ID = 4855]
4.D, A, B, C [Option ID = 4856]

)



Correct Answer :-
e A B, C, D [Option ID = 4853]

17) 268Q, 9169 S6IF, 99 RALIQ B AIQE fg 999 2gg6el
SARAITTR §¢ FRINE QR |

A. QURIS 6MISE
B. €€ 6€lIES

C. 9699 I

D. QLIS dIg

0 AQas a8Id a9 |

[Question ID = 1215][Question Description = S2_qSNz_PG_ORI_Q17]
1. A, B, C, D [Option ID = 4857]
2. C, D, A, B [Option ID = 4858]
3.D, C, B, A [Option ID = 4859]
4. B, A, D, C [Option ID = 4860]

Correct Answer :-
e A, B, C, D [Option ID = 4857]

18) QIAIGRE Ag, rPEARL, F6SIR Q19 B @ugdie Ags 2Agaed
eg9eq Aald |

A. €6 ALIYQY
B. AIEGY 696l

C. |98l

D. AYIQ AN

0 AT a8I¢ a9 |

[Question ID = 1216][Question Description = S2_qSNz_PG_ORI_Q18]
1. B, A, C, D [Option ID = 4861]
2. D, C, B, A [Option ID = 4862]
3. C, A, B, D [Option ID = 4863]
4. A, B, D, C [Option ID = 4864]

Correct Answer :-
e B, A, C, D [Option ID = 4861]

19) ARISIE RIF AGF6A F6TIR 6! A°FRE FELR g6l AN !9 |
A. AF$1



B. A9€I1Q¢

C. 969 @9l

D. AKAG

0G AT &8¢ a9 |

[Question ID = 1217][Question Description = S2_qSNz_PG_ORI_Q19]
1. A, B, C, D [Option ID = 4865]
2. B, D, C, A [Option ID = 4866]
3. A, C, D, B [Option ID = 4867]
4. C, A, B, D [Option ID = 4868]

Correct Answer :-
e A B, C, D [Option ID = 4865]

20) ARISIE QRN 2AGF6S LTI £ FFINE 2 |
A. €8 G GI9l

B. 68¢I91

C. 6516M £ &

D. FHIS 9% Qg

0% Q0% a8I¢ a9 |

[Question ID = 1218][Question Description = S2_qSNz_PG_ORI_Q20]
1. A, B, C, D [Option ID = 4869]
2. B, C, A, D [Option ID = 4870]
3. A, C, D, B [Option ID = 4871]
4. C, A, B, D [Option ID = 4872]

Correct Answer :-
e A, B, C, D [Option ID = 4869]

21) 6eQ g°gl QERIgAIN AISeT ‘AYRAACT QIR dIF aYem ?
[Question ID = 1219][Question Description = S2_qSNz_PG_ORI_Q21]
1. Qg% AITGY QAR [Option ID = 4873]

2. 961 [Option ID = 4874]

3. Q9% 65361 Qelw [Option ID = 4875]

4. Q18RI 9 99G [Option ID = 4876]

Correct Answer :-
* LMW AITGY AR [Option ID = 4873]



dIae MEA dYIdelial 926¢l 69Q ATLIER 211gLIs @AM ?
[Question ID = 1220][Question Description = S2_qSNz_PG_ORI_Q22]
1. 1932 [Option ID = 4877]

2. 1920 [Option ID = 4878]

3. 1925 [Option ID = 4879]

4. 1929 [Option ID = 4880]

Correct Answer :-
e 1932 [Option ID = 4877]

23) 69Q% §lIgg AIa AITIFISF QAUILQ €8¢ ?[Question ID = 1221]
[Question Description = S2_qSNz_PG_ORI_Q23]

1. 99418 [Option ID = 4881]

2. GQERIS [Option ID = 4882]

3. 6] [Option ID = 4883]

4, 6@ [Option ID = 4884]

Correct Answer :-
« 9YRIS [Option ID = 4881]
24) ‘f19N QUYL dYQ deIfie gfl aauIda QIF @61 ?

[Question ID = 1222][Question Description = S2_qSNz_PG_ORI_Q24]
1. @Ml CPR1Q [Option ID = 4885]

2. 9I61& [Option ID = 4886]

3. FIRQEE [Option ID = 4887]

4. QIM6SIg [Option ID = 4888]

Correct Answer :-

o QMml AR [Option ID = 4885]

25) ‘mdaa diell 2ig2l’, ‘5‘@9 QEITE’ B ‘691159 diinell’ A6
Qdelf]lae 2AgALP 64Q SE AL 9°8 & ?[Question ID = 1223][Question
Description = S2_qSNz_PG_ORI_Q25]

1. RS AILYIM [Option ID = 4889]

2. €110l [Option ID = 4890]

3. 9g1 696LUEN [Option ID = 4891]
4. 9591 QI9@ [Option ID = 4892]

Correct Answer :-
e 2@l AIxYIm [Option ID = 4889]

26) F69ID 68Q $AT QUG QUFIST 696TUT Y ?
A. 29 QU6
B. @09 -@G9



C. digd dQ e
D. Q2o gdéem QI
0 Q0T fINE Qo

[Question ID = 1224][Question Description = S2_qSNz_PG_ORI_Q26]
1. A B B [Option ID = 4893]
2. B B C [Option ID = 4894]
3. C B D [Option ID = 4895]
4. A B D [Option ID = 4896]

Correct Answer :-
e A BB [Option ID = 4893]

27) 696FIGRIT AUINUER FIC1A ATIYY YRR 69R 699 CIFSTL
das 2¢e «08g ?

A. Q66191 Q2

B. @S659Q 696EQ

C. @6 96l Q19

D. Qf degIe

0 AT aINE aau:

[Question ID = 1225][Question Description = S2_qSNz_PG_ORI_Q27]
1. A B B [Option ID = 4897]
2. B B C [Option ID = 4898]
3. C B D [Option ID = 4899]
4. A B D [Option ID = 4900]

Correct Answer :-
e A (B [Option ID = 4897]

28) 699 QG FRYSFF ST ?
A. 9698

B. SiwQUSILY

C. 9468 °R6TBT G196

D. 4IQ AIRRIR FATR

0 Q0T S0 e

[Question ID = 1226][Question Description = S2_qSNz_PG_ORI_Q28]
1. A B B [Option ID = 4901]



2. B 3 C [Option ID = 4902]
3. C 3 D [Option ID = 4903]
4. A B D [Option ID = 4904]

Correct Answer :-
e A BB [Option ID = 4901]

29) ‘GE-616-618” B ‘Ag]’ 91F YR dRIG J2IFe T8 /R |
A. 95 QUQERIL

B. 69lIQIS Q1§ LIS

C. QIR AISigILT

D. feuleg fAgIdIg

0% Q0T SI06 a9

[Question ID = 1227][Question Description = S2_qSNz_PG_ORI_Q29]
1. A B B [Option ID = 4905]
2. B B C [Option ID = 4906]
3. C B D [Option ID = 4907]
4. A B D [Option ID = 4908]

Correct Answer :-
e A BB [Option ID = 4905]

30) 699 g% QUIAY Ags Qo ?
A. SI9QI1 96l

B. 4SRISM

C. geF 9]Ig

D. 6RI6lIS

0% 9% 5106 a9

[Question ID = 1228][Question Description = S2_qSNz_PG_ORI_Q30]
1. A @ B [Option ID = 4909]
2. B B C [Option ID = 4910]
3. C B D [Option ID = 4911]
4. A B D [Option ID = 4912]

Correct Answer :-
e A (B [Option ID = 4909]

31) ‘@’ 99 986 ‘¢ 999 QAYD 2°ae £Qa8 !9 |



‘@ 99 ‘6’ 9¢

A. QLI QUL . 2SR
B. 6ClIEQ16EIIER 69F1AGI. JQiqY
C. 65l9eg «Ig . gelg

D. R1Req Q19 Iv. G69a1

@9g 699 969 RIQ AAYR AT I e

[Question ID = 1229][Question Description = S2_qSNz_PG_ORI_Q31]
1.A-1ll,B-1l, C-1V, D-I[Option ID = 4913]
2.A-IV,B-1ll,C-1l, D-1[Option ID = 4914]
3.A-1I,B-1,C-1ll, D-IV[Option ID = 4915]
4. A-1,B-1l,C-1V, D- Il [Option ID = 4916]

Correct Answer :-
e A-IIlB-1l,C-1V, D-1[Option ID = 4913]

32) ‘@’ 99 986 ‘¢ 999 QAYD 2°ade £U8 !9 |

‘@’ 99 ‘oI’ 991
A. 19l ey . AMIsT 651K NS
B. 29w . 69lICIR 69IM
C. 6QIgNg UGYAIIL. sI91G21 eNe
D. ggaif Iv. dI9Q 69IM

@9g 699 969 RIQ AU AT I e

[Question ID = 1230][Question Description = S2_qSNz_PG_ORI_Q32]
1.A-11,B-1l,C-1V,D- | [Option ID = 4917]
2.A-1V,B-1ll,C-1l,D-1I[Option ID = 4918]
3.A-IV,B-II,C-1ll, D-1[Option ID = 4919]
4. A-1,B-1,C-1IV,D- Il [Option ID = 4920]

Correct Answer :-
e A-1lIl,B-1I,C-1V,D-I[Option ID = 4917]

33) ‘@’ 991 9TC ‘O 999 QUYD 9°AF §UE !9 |

‘@’ 99 ‘6’ 99

A. F16Q198 S <19 l. JEALR 2AlG
B. §§6e <ld Il. f1064I¢|

C. Sa% Agl ll. S19QIERAI6s
D. Q6€1$l dISiglIL IV. €1918

@99 a9 969 RIQ QYYD ARG Ja !q:

[Question ID = 1231][Question Description = S2_qSNz_PG_ORI_Q33]
1.A-1l,B-1V,C-1ll, D-1[Option ID = 4921]



2.A-1,B-1l,C-1IV,D - Ill [Option ID = 4922]
3.A-IV,B-1ll,C-1,D - Il [Option ID = 4923]
4. A-1Il,B-1l,C-IV,D - | [Option ID = 4924]

Correct Answer :-
e A-Il,B-1V,C-Ill, D-I[Option ID = 4921]

34) ‘@’ 99 98% ‘Y’ 999 QUYD 9°dF FQAE ! |

‘@’ 99 ‘6’ 94¢}

A. The Myth of Sisyphus I. Eliad Mircea

B. Existentialism Il. Walter Kaufmann
C. Myth and Reality lll. John Macquarre
D. Existentialism from IV. Albert Camus
Dostoevsky to Sartre

@9g 699 969 RIQ AR ARG g e

[Question ID = 1232][Question Description = S2_qSNz_PG_ORI_Q34]
1. A-IV, B-1ll, C -1, D - Il [Option ID = 4925]
2.A-1U,B-1l,C-1V,D - |[Option ID = 4926]
3.A-I,B-1,C-1l,D-IV[Option ID = 4927]
4. A-1,B-1V,C-1l,D- Il [Option ID = 4928]

Correct Answer :-
e A-IV,B-1ll, C-1,D- Il [Option ID = 4925]

35) ‘@’ 99 98¢ ‘¢’ 999 QUYD 9°dF FQA8 ! |

‘@ 99 ‘61’ 993

A. SIS QNGI l. 4651198 Qg

B. QIQYE NGl . @elgI2l 19

C. Ja@ qNgl . AQUeIee Q19
D. 2IFAN6S NG IV. eRld QIg

Gg G99 999 lRIQ QYD ARG Ja e

[Question ID = 1233][Question Description = S2_qSNz_PG_ORI_Q35]
1.A-1,B-1l,C-1V,D- Il [Option ID = 4929]
2.A-1IV,B-1ll,C-1,D- Il [Option ID = 4930]
3.A-1V,B-1Il,C-Ill,D-1[Option ID = 4931]
4. A-11,B-1l,C-1IV,D-I|[Option ID = 4932]

Correct Answer :-
e A-I,B-1I,C-1V,D- Ill [Option ID = 4929]



QUACA QU AALIRQ FUQ 69Q% dig1ae €l ?[Question ID = 1234]
[Question Description = S2_qSNz_PG_ORI_Q41]

1. QG 2 [Option ID = 4933]

2. 23@ [Option ID = 4934]

3. Q1G9 [Option ID = 4935]

4. 3801 9181 [Option ID = 4936]

Correct Answer :-
. QAL 2y [Option ID = 4933]

37) 69Q 19T 0@611&? QYR S19RNEIRQ FIQU YRGS ?[Question ID =
1235][Question Description = S2_qSNz_PG_ORI_Q42]

1. IRKISA [Option ID = 4937]

2. 9Q1 [Option ID = 4938]

3. @9« [Option ID = 4939]

4. Q9% [Option ID = 4940]

Correct Answer :-
e 2diM@ICA [Option ID = 4937]

38) 6QQ l}]@‘@ GEN@G QU&&Q ?[Question ID = 1236][Question
Description = S2_qSNz_PG_ORI_Q43]

1. 9 [Option ID = 4941]

2. Q [Option ID = 4942]

3. O [Option ID = 4943]

4. ol [Option ID = 4944]

Correct Answer :-
e d [Option ID = 4941]
39) 63GeIdl 98 A&y 92l 2AIcLnL| JERN Wil 62 Aa8Iaa ?

[Question ID = 1237][Question Description = S2_qSNz_PG_ORI_Q44]

1. [AKI [Option ID = 4945]
2. 2/ [Option ID = 4946]

3. RISQ [Option ID = 4947]
4. glq [Option ID = 4948]

Correct Answer :-
e QAU [Option ID = 4945]

40) 691NN ARISS QUG FRIQ 69 696FIgeITUEN ?[Question
ID = 1238][Question Description = S2_qSNz_PG_ORI_Q45]

1. QIGQ%I [Option ID = 4949]

2. 2929 [Option ID = 4950]

3. CITEISIR [Option ID = 4951]



4. I8 K9l [Option ID = 4952]

Correct Answer :-
. QI@Q@I [Option ID = 4949]

41) 46y ARIGS 6aQ QARYILER ‘AACTR’ TG ¢4 @ﬁﬁ?l oleél
@Q& ?[Question ID = 1239][Question Description =
$2_qSNz_PG_ORI_Q46]

1. QIRIS SKL: [Option ID = 4953]

2. 1687 [Option ID = 4954]

3. e ALLIL [Option ID = 4955]

4. QYI6LE169 AR [Option ID = 4956]

Correct Answer :-
o QIR G@L [Option ID = 4953]

42) F691& Q9 e gLIGe §1F 699% ?[Question ID = 1240]

[Question Description = S2_qSNz_PG_ORI_Q47]
1. 2I9&YK [Option ID = 4957]

2. 6699929 50 [Option ID = 4958]

3. SYRRYIR RILIN [Option ID = 4959]

4. 999 Yl [Option ID = 4960]

Correct Answer :-
o 2IQél4Ya [Option ID = 4957]

43) 4695 699 oly A me aix 62g dIE€CcY 9166 e g
dIRKE ?[Question ID = 1241][Question Description =
S2_qSNz_PG_ORI_Q48]

1. A9IS B ALYLNESR [Option ID = 4961]

2. 269 QRUIES [Option ID = 4962]

3. Y29 PRENR [Option ID = 4963]

4. 990IQ 1GIQUS [Option ID = 4964]

Correct Answer :-
o A9I9 G 2AFUAES [Option ID = 4961]

44) 69Q dIsleY 986 ARG UIR QNI RGLR 68IR SELT ?
[Question ID = 1242][Question Description = S2_qSNz_PG_ORI_Q49]
1. 6] @68 [Option ID = 4965]

2. J66Im [Option ID = 4966]

3. BRELYRS [Option ID = 4967]

4. CIGERRA [Option ID = 4968]

Correct Answer :-



¢ 6% F6%! [Option ID = 4965]
45) g6 69 Glaguide €69%Q QUYL Y ?[Question ID =
1243][Question Description = S2_qSNz_PG_ORI_Q50]
1. 2189068l F1SI8 [Option ID = 4969]
2. 691QMIe% C1RIKIQ [Option ID = 4970]

3. 24991 99é Q19 [Option ID = 4971]
4. 91681gQ §1¢ [Option ID = 4972]

Correct Answer :-
¢ QL9098 F19I8 [Option ID = 4969]

46) 91918 QUNGIA 2Ty AUV FE6EM 69Q 69Q QWG §KI9 ?
A. difR

B. 68Ga

C. 9°9%

D. elfim

0 Q0T SINE Qo

[Question ID = 1244][Question Description = S2_qSNz_PG_ORI_Q51]
1. A B B [Option ID = 4973]
2. B B C [Option ID = 4974]
3. C B D [Option ID = 4975]
4. A B D [Option ID = 4976]

Correct Answer :-
e A (B [Option ID = 4973]

47) 269D 699 AT A68IAYIQ ?
A. 39 @ 29

B. AAISIAIR 6F

C. 2T QI

D. §Qlaug

0 99e 5106 a9

[Question ID = 1245][Question Description = S2_qSNz_PG_ORI_Q52]
1. A B B [Option ID = 4977]
2. B B C [Option ID = 4978]
3. C B D [Option ID = 4979]
4. A B D [Option ID = 4980]



Correct Answer :-
e A BB [Option ID = 4977]

48) w1695l A&l 689 Qg9 4 dIg1e emIaadl G QILIENQ 2RSS
de'lsl ?

A. fi2ie G 6QIGF2AIR K
B. SIQEI0 @2l

C. 9g g5 9% QI8

D. €ig 929Q 98968

0% 99e 5106 a9

[Question ID = 1246][Question Description = S2_qSNz_PG_ORI_Q53]
1. A B B [Option ID = 4981]
2. B 3 D [Option ID = 4982]
3. C B D [Option ID = 4983]
4. A B C [Option ID = 4984]

Correct Answer :-
e A BB [Option ID = 4981]

49) 699 TR 9F0I RITRISRA FARIZFA ?
A. 6961961

B. @14e

C. § 99 968 Y6LRS

D. Sgaén

0 Q0T SINE Qo

[Question ID = 1247][Question Description = S2_qSNz_PG_ORI_Q54]
1. A B B [Option ID = 4985]
2. B B C [Option ID = 4986]
3. C B D [Option ID = 4987]
4. A B D [Option ID = 4988]

Correct Answer :-

e A (B [Option ID = 4985]

50) PAINCLNILT W ‘66D Gﬂ@ﬁﬁ" @ ‘dlcoIR 621’ 9IF @@@Q
eReT AUIFEH TEC /A |

A. 69lIMIYEMIFS de'? IS



B. 9878 AEQIAR

C. 69lQIR 96 LRI
D. QUALR AL

0@ 209 AR08 e

[Question ID = 1248][Question Description = S2_qSNz_PG_ORI_Q55]
1. A 3 B [Option ID = 4989]
2. B B C [Option ID = 4990]
3. C B D [Option ID = 4991]
4. A B D [Option ID = 4992]

Correct Answer :-

e A (B [Option ID = 4989]

51) dIof QI FLIKVNNACR QUAVIQR ‘@’ D ATe ‘¢’ 9aa QdYID adee
o |

‘@’ 99 ‘61’ 9y
A. 010 Sa@ l. 6ALIER
B. el S Il. @644l
C. g219 fa . Rgaa
D. A9l fa@ IV. 602

@9g 699 969 RIQ AU AT I e

[Question ID = 1249][Question Description = S2_qSNz_PG_ORI_Q56]
1.A-1ll,B-1l,C-1,D - IV [Option ID = 4993]
2.A-11,B-1Il,C-1V,D - [Option ID = 4994]
3.A-1I,B-1V,C-1,D - Il [Option ID = 4995]
4. A-1V,B-1Il,C-1l,D- I [Option ID = 4996]

Correct Answer :-
e A-lIl,B-1I,C-1,D-IV[Option ID = 4993]

52) ‘@’ 99 98¢ ‘¢’ 99 QUYD 9°dF FQAE ! |

‘@’ 9¢ ‘6’ 99
A. @94 g6l l. 719 Q19

B. §ie QU6 1. §i§) 29 Q19
C. 9996l lll. AIRI6SS Q19
D. FlIF6Q% AUEl IV. IR19Q Q19

Qg 997 9oe RIQ QYYD QAT Ja !

[Question ID = 1250][Question Description = S2_qSNz_PG_ORI_Q57]
1.A-1,B-1,C-1V, D -l [Option ID = 4997]



2.A-1,B-1ll,C-IV, D - Il [Option ID = 4998]
3.A-1Il,B-1IV,C-1,D - Il [Option ID = 4999]
4. A-1,B-1I,C-1ll, D - IV [Option ID = 5000]

Correct Answer :-
e A-Il,B-1,C-1V, D-Ill [Option ID = 4997]

53) ‘@’ 99 I8¢ ‘¢’ 99 QUYD 9°dG FQAE ! |

‘@’ 99 ‘o’ 99
A. §19¢ IR ALIT 1. 1929
B. 0964181 Q2 1. 1921
C. 69NQIA ALIT Il. 1938
D. 969§ I8 IV. 1914

Qg 97 96e RIQ QYYD QAT Ja !

[Question ID = 1251][Question Description = S2_qSNz_PG_ORI_Q58]
1.A-1V,B-1Il, C-1Il, D - | [Option ID = 5001]
2.A-11,B-1ll,C-1,D- IV [Option ID = 5002]
3.A-1,B-1,C-1V,D- Il [Option ID = 5003]
4. A-1,B-1V,C-Il, D -l [Option ID = 5004]

Correct Answer :-
e A-IV,B-II,C-Ill, D-I[Option ID = 5001]

54) ‘@’ 991 98¢ ‘S’ AN QALY I°dF FQUE | |

‘}’ 99 ‘o’ 991
A. 21704 QI 1. 1848
B. §4|912 @9 Il. 1884
C. FYYLS B Ill. 1864
D. QUMII2 QUL IV. 1853

@9g 699 969 RIQ AAYR AT Ia e

[Question ID = 1252][Question Description = S2_qSNz_PG_ORI_Q59]
1.A-1V,B-1,C-1l,D-lll [Option ID = 5005]

2.A-1,B-1l,C-1ll, D- IV [Option ID = 5006]

3.A-1l,B-1Il,C-1IV, D-I[Option ID = 5007]

4. A-1,B-1IV,C-1,D - Il [Option ID = 5008]

Correct Answer :-
e A-IV,B-1I,C-1l,D-lll [Option ID = 5005]

55) ‘@’ 9¢ 46 ‘o’ 999 QALY 9°dS FQUE !9 |

‘@’ 9¢ ‘o’ 9¢}




A. 984961 | JELI9e adaulg
B. 2fjeq 48Ig Il. 1991Qe aaayld
C. AR B Il 1. 6dlQUéie aaailg
D. gmeIQl IV. 22IQe @aauIg

@9g 699 969 RIQ AR AT g e

[Question ID = 1253][Question Description = S2_qSNz_PG_ORI_Q60]
1.A-1V,B-1ll, C- 1, D - | [Option ID = 5009]
2.A-1,B-1,C-1l,D-IV[Option ID = 5010]
3.A-NB-IV,C-1l,D-1[Option ID = 5011]
4. A-11,B-1ll,C-1,D-IV[Option ID = 5012]

Correct Answer :-

e A-IV,B-1ll,C-1I,D- 1| [Option ID = 5009]

56) 689 §BALIN QST QFIE FILIEN ?[Question ID = 1254]
[Question Description = S2_qSNz_PG_ORI_Q61]

1. ARQLEQ 9T [Option ID = 5013]

2. F6QE6Q 62K [Option ID = 5014]

3. QUG 9G4SR [Option ID = 5015]

4. A16619R1 Yest [Option ID = 5016]

Correct Answer :-
* AURWVITQY eaMd [Option ID = 5013]

57) 6900 FRNGe Fldw Aol ‘{IG‘E ?[Question ID = 1255][Question
Description = S2_qSNz_PG_ORI_Q62]

1. 9% B @GS [Option ID = 5017]

2. 99 QIRYS gaereR [Option ID = 5018]

3. F192I9&Y [Option ID = 5019]
4. 29419 - 99 F6QI6TRIGS & [Option ID = 5020]

Correct Answer :-
¢ QA% B @GS [Option ID = 5017]

58) 685 AYMGAIQ 6QAVT QRUTR ﬁG‘i‘v ?[Question ID = 1256]
[Question Description = S2_qSNz_PG_ORI_Q63]

1. QIS21 [Option ID = 5021]

2. 94Ig4&1 [Option ID = 5022]

3. @19&1 [Option ID = 5023]

4. 2% [Option ID = 5024]

Correct Answer :-
o QIS21 [Option ID = 5021]



59) ‘GReT F1UL°gl 689 ALN6Q & ADAMI ?[Question ID = 1257]
[Question Description = S2_qSNz_PG_ORI_Q64]

1. g9 [Option ID = 5025]

2. 999 [Option ID = 5026]

3. 9999 [Option ID = 5027]

4. AIoRIesicd [Option ID = 5028]

Correct Answer :-
e g1 [Option ID = 5025]

60) @9 2TLLITR oD §LE ?

[Question ID = 1258][Question Description = S2_qSNz_PG_ORI_Q65]
1. @2649IE [Option ID = 5029]

2. @964 [Option ID = 5030]

3. §.Q.g4¢1 [Option ID = 5031]

4. Q6% [Option ID = 5032]

Correct Answer :-
¢ @KL [Option ID = 5029]

61) 699 QR QAGPEIS FELA G6L ?
A. 2994 299 (§)

B. dgSIR Q°ClRL

C. R8CI 299d

D. |aflIR1 299'd

06 Q0T SIN6 e

[Question ID = 1259][Question Description = S2_qSNz_PG_ORI_Q66]
1. A B B [Option ID = 5033]
2. B 3 D [Option ID = 5034]
3. C B D [Option ID = 5035]
4. A B C [Option ID = 5036]

Correct Answer :-
e A BB [Option ID = 5033]

62) 690 9R% IRIFSI ACFIN°RS QAT ?
A. 2899

B. QU

C. 699



D. 69¢
0% Q9% G5I0¢ e

[Question ID = 1260][Question Description = S2_qSNz_PG_ORI_Q67]
1. A B B [Option ID = 5037]
2. B B C [Option ID = 5038]
3. B 3 D [Option ID = 5039]
4. A B C [Option ID = 5040]

Correct Answer :-
e A BB [Option ID = 5037]

63) 699 TRT 2RISR G6L ?
A. R199AB G

B. RAdRINF fAQIG

C. el 98

D. 661l QINgMI K199

0% Qa9 SRINE a9

[Question ID = 1261][Question Description = S2_qSNz_PG_ORI_Q68]
1. A B B [Option ID = 5041]
2. B B C [Option ID = 5042]
3. C B D [Option ID = 5043]
4. A B D [Option ID = 5044]

Correct Answer :-
e A BB [Option ID = 5041]

64) 699 9ATY ARNACH Fde FITTGAQ VS QUES G ?
A. 9RYSDGI

B. dI°9Ee el

C. g2 gdaiesuegl

D. d9Rel

0 AQ0T SIN6 e

[Question ID = 1262][Question Description = S2_qSNz_PG_ORI_Q69]
1. A B B [Option ID = 5045]
2. B B C [Option ID = 5046]
3. A B D [Option ID = 5047]
4. C B D [Option ID = 5048]



Correct Answer :-
e A BB [Option ID = 5045]

65) 699 YNG4 dIRl 98¢ 9°9D ?
A. 22812
lgéigeia

0 @

. QIS SIE
D. dde §1eee
0% Q9% FI0E fQ:

[Question ID = 1263][Question Description = S2_qSNz_PG_ORI_Q70]
1. A B D [Option ID = 5049]
2. B 3 C [Option ID = 5050]
3. AB C [Option ID = 5051]
4. B 3 D [Option ID = 5052]

Correct Answer :-

e A B D [Option ID = 5049]

66) G‘?JGQ g@@ 129y Q2AIAINE | 2IQ G‘Ellg'&l gid&l (Assertion) ‘A’
QU6S 99° AQUTY gD (Reason) ‘R’ QU6S §EC SAUAIRE |

gldgl (Assertion) A :6RIeq .5, 2lA §IA6RUG 628 |
4% (Reason) R: @16, GAUE dILIFER DARN QGPI SIME |

QAR FISSY §RT QA6 §F oA T9F RIQ QAUYD AN G
e |

[Question ID = 1264][Question Description = S2_qSNz_PG_ORI_Q76]
1. AGR Q@2 OF | R 6208 A Q QIS SUINII [Option ID = 5053]

2.ABRQ0A 0% I AQ QdYda QUIGNIR @6@" | [Option ID = 5054]

3. AO® BR @M | [Option ID = 5055]

4. A@m B ROS | [Option ID = 5056]

Correct Answer :-
e ABGRQQZ 0% | R6LAE A Q Qdga QUISYI [Option ID = 5053]

67) 969 AT FA89Y QULINEG | YQ 665G QAR (Assertion) ‘A’
QU6S I99° AQYTG YD (Reason) ‘R’ Q6T TEE QAR |

dIdQl (Assertion) A :3J@ @8Q Q1Y GF RIAR - AAF, A G 2y |
I (Reason) R: 699R SISIRFIQ AAFE QGRS & @ QISY |



QUEAUD F189Y 9T QR6Q 7Y 49R 997 FRIQ QUYD AN qda
e |

[Question ID = 1265][Question Description = S2_qSNz_PG_ORI_Q77]
1. ABR Q9% 0% | R 6208 A © QYD QUS| [Option ID = 5057]

2.ABRQ0A 0% | I AQ QdYda QUISNIR @6@ | [Option ID = 5058]

3. AO® BR @M | [Option ID = 5059]

4. A @@ G R 0% [Option ID = 5060]

Correct Answer :-
 ABGR Q@@L 09 | R 62QR A Q QU UISIUII [Option ID = 5057]

68) 2Y6Q AT FA189Y QAULINE | YQ 665G AR (Assertion) ‘A’
QU6S 99° 2AQUTQ D (Reason) ‘R’ QU6S §EC SAUARE |

diae| (Assertlon) A: 2989191 €8, 9IDq 691619 9AIeFI ] FAA6R
QIFCESRIF |

9D (Reason) R: FI06] 1819 62R 2SI, MTESRIER T Q64 |

QAR FISSY §RT QA6 §F oA T9F RIQ AUYD AN G
e |

[Question ID = 1266][Question Description = S2_qSNz_PG_ORI_Q78]
1. ABGR Q@2 0% | R 6208 A Q Q@AY QIS [Optlon ID = 5061]

2.ABRQEL 0R | ClIg AQ QdYda QUISNMIR 36@ | [Option ID = 5062]

3. AO® BR @M | [Option ID = 5063]

4. A @m B R O9 [Option ID = 5064]

Correct Answer :-
e ABGRQQLZ 0% | R6LAZ A Q Qdga QIS [Option ID = 5061]

69) 96Q AT A89Y QAULINEG | YQ 665G AR (Assertion) ‘A’
QU6S 99° AQUTG JB (Reason) ‘R’ QU6S §&C FAUAIRE |

QI9QI (Assertion) A: GI6ISER RGN FIGKIGIT F699Q Y62 QUER
GO a6 |

I (Reason) R: 63018 991 F697Q AUV6R 6QUF 66NN |

QU6AUD F189Y 9T QR6Q 7F 49R 997 IR QUYD ARG qda
e |

[Question ID = 1267][Question Description = S2_qSNz_PG_ORI_Q79]
1. ABR Q@2 09 | R 62Q& A Q QYD QUIGHYI | [Opt1on ID = 5065]

2. AGR Q@ 09 | 9Ig A Q QUYD QUISYI R @6@ | [Option ID = 5066]

3. AOR B R @m | [Option ID = 5067]

4. A @@ G ROS | [Option ID = 5068]



Correct Answer :-
« ABGR Q@@L 09 | R 62QR A Q QUYSD QUISIYI | [Option ID = 5065]

70) 3969 9% F189Y QUKIAE |1 WIQ 69115G LIAR (Assertion) ‘A’
QI6S 99° 2AQUTY gD (Reason) ‘R’ Q6L §EC SAUAIRE |

g1dQl (Assertion) A : dIQGe A6 696G G SIRMIY, FIg TG
AIQANES 18] |

9% (Reason) R:68I9'Q SGLIN SIS AFTQ LEAITECLR ARSI
g2 |

QUEAD FISSY AT QA6 &F g9a §6F FlIQ RUYD AT Fda
QQ |

[Question ID = 1268][Question Description = S2_qSNz_PG_ORI_Q80]
1. AGR Q@ 0% | R 6298 A Q QA2 SUISNII [Option ID = 5069]

2. AGR Q@ 09 | €18 A Q QUYS YIS R @62 | [Option ID = 5070]

3. AO® BR @M | [Option ID = 5071]

4. A @@ B R O [Option ID = 5072]

Correct Answer :-
e ABGRQQLY 0% | R6LQAZ A Q Qdga QUISIYI [Option ID = 5069]

71) ‘6quml Q12 69Q F16919Q SR ?[Question ID = 1269][Question
Description = S2_qSNz_PG_ORI_Q81]

1. §910@QI< [Option ID = 5073]

2. QIQISIS [Option ID = 5074]

3. QYIS [Option ID = 5075]

4, GlAF6R8a<IQ [Option ID = 5076]

Correct Answer :-
e QORISR [Option ID = 5073]

72) 68QG qla1eel aoeal 3G 298I g4 QQ@ &G“f ?[Question ID
= 1270][Question Description = S2_qSNz_PG_ORI_Q82]

1. QRISLIQ YYLEP [Option ID = 5077]

2. 2918 B dd G 2849 [Option ID = 5078]

3. @198 9% 6QUFIER-FI9RR191 QB/@%P1 [Option ID = 5079]

4, AIFYRIQ1 B 65198 AICNRS Q/@QEM [Option ID = 5080]

Correct Answer :-

o RISGIQ YYRGP [Option ID = 5077]

73) @9 “Annals and Antiquities of Rajasthan” - QR QEa| 486
Q°8 & ?[Question ID = 1271][Question Description =



S2_qSNz_PG_ORI_Q83]

1. 6@¢19 9§ [Option ID = 5081]

2. @] §¢19 [Option ID = 5082]

3. QARLS 68194 [Option ID = 5083]
4. 2IQ.§.QIQIG1 [Option ID = 5084]

Correct Answer :-
* 6W¢ld 9% [Option ID = 5081]

74) ‘6MIGQIEN AL’ L9 MR @\ ?[Question ID = 1272]
[Question Description = S2_qSNz_PG_ORI_Q84]

1. Q&8LIQ Q14 [Option ID = 5085]

2. 69lldINey delw [Option ID = 5086]

3. A8 AP [Option ID = 5087]

4. 99V F1LIQIE [Option ID = 5088]

Correct Answer :-
e @BLRIQ QI8 [Option ID = 5085]

75) 69Q% QePes 986 9°gR §6% ?[Question ID = 1273][Question
Description = S2_qSNz_PG_ORI_Q85]

1. 969461 [Option ID = 5089]

2. 984 [Option ID = 5090]

3. gSQ&P [Option ID = 5091]

4. 38K19Y [Option ID = 5092]

Correct Answer :-
e J699@ [Option ID = 5089]

76) 6QQ% delmgd NN 6mIFels 216@' ?[Question ID = 1274][Question
Description = S2_qSNz_PG_ORI_Q86]

1. 6¢1l [Option ID = 5093]

2. CIRMIQL [Option ID = 5094]

3. QIg@I@ [Option ID = 5095]

4, d46%Iml [Option ID = 5096]

Correct Answer :-

« 96¢1 [Option ID = 5093]

77) 699 6MINRILTIANT 60lldINGY dELE ‘Qgn GILI6N ° La6eR
die dIRQIE ?[Question ID = 1275][Question Description =
S2_qSNz_PG_ORI_Q87]

1. ogmel d&l @2l [Option ID = 5097]

2. Q684 @2l [Option ID = 5098]
3. 98 96PIS @2l [Option ID = 5099]



4. dILI¥Ig« @2l [Option ID = 5100]

Correct Answer :-

e ogfMal 94l @2l [Option ID = 5097]

78) ‘Ql&lel ARARR1’ g6l 669 F1ALIER 29qe 6LINAMI ?2[Question ID
= 1276][Question Description = S2_qSNz_PG_ORI_Q88]

1. 1885 [Option ID = 5101]

2. 1902 [Option ID = 5102]

3. 1903 [Option ID = 5103]

4. 1898 [Option ID = 5104]

Correct Answer :-

« 1885 [Option ID = 5101]

79) 6900 QRINISNE AFRINST FITR ?[Question ID = 1277]
[Question Description = S2_qSNz_PG_ORI_Q89]

1. 6@IUSIEP [Option ID = 5105]

2. 656aY MRl [Option ID = 5106]

3. @99 G@Q [Option ID = 5107]
4. 99Q46l1 [Option ID = 5108]

Correct Answer :-
e 6@IAIGIW [Option ID = 5105]

80) “2leQ QLY S1AG I8 66l QRILF LIC6RQ dgeq ¢4.” - 9ed
FILIN QAR ?

[Question ID = 1278][Question Description = S2_qSNz_PG_ORI_Q90]
1. @1R1& SQYIQG [Option ID = 5109]

2. QUIGY @& [Option ID = 5110]

3. €1F9R QUG [Option ID = 5111]

4. QIRL1994 AI8gIL1 [Option ID = 5112]

Correct Answer :-
o RS ‘Z‘QHIQQ [Option ID = 5109]

81) 699 90% Q9Ql fIFI Q19T 9T 9°YR ?
A. gg6n 96

B. @ ARG

C. FIF6SIRI a4l

D. FIS6aR



0% QAT SN S

[Question ID = 1279][Question Description = S2_qSNz_PG_ORI_Q91]
1. A B B [Option ID = 5113]
2. C B D [Option ID = 5114]
3. AB C [Option ID = 5115]
4. B B D [Option ID = 5116]

Correct Answer :-
e A BB [Option ID = 5113]

82) 699 9R% AIFe & ?
A R
B.

o
'd) de

D.

=)

0% Q9% FINE fQ:

[Question ID = 1280][Question Description = S2_qSNz_PG_ORI_Q92]
1. A B C [Option ID = 5117]
2. B 3 D [Option ID = 5118]
3. AB D [Option ID = 5119]
4. C B B [Option ID = 5120]

Correct Answer :-
e AGBC [Option ID = 5117]

83) 699 QAT 6AILAITR SI°RIFl AKKA ?
A. QUIEIAMIGI

B. 8Q96Y

C. 9419

D. SIARIE

0% Q99e 5106 e

[Question ID = 1281][Question Description = S2_qSNz_PG_ORI_Q93]
1. A B B [Option ID = 5121]
2. B 3 C [Option ID = 5122]
3. C B D [Option ID = 5123]
4. A B D [Option ID = 5124]

Correct Answer :-



« A3 B [Option ID = 5121]

84) 699 2R §RFI2 QAR QTG ?
A. A1Q6SIRIC

B. RGPS

C. QIS

D. @&l

0 AT SINE aau

[Question ID = 1282][Question Description = S2_qSNz_PG_ORI_Q9%4]
1. A B B [Option ID = 5125]
2. B B C [Option ID = 5126]
3. C B D [Option ID = 5127]
4. A B D [Option ID = 5128]

Correct Answer :-
e A BB [Option ID = 5125]

85) ‘6RI€lIS" B ‘GRTI 6MIGI’ FECI AXRIR ACACIF A2AIF6E §§e
e |

A. AIZRIAQ ALY

B. @IRK19Q6l AI&IgIF
C. 9998 G4dI01

D. QRIIGAIES 9GS
0% 9e 5106 a9

[Question ID = 1283][Question Description = S2_qSNz_PG_ORI_Q95]
1. A B B [Option ID = 5129]
2. B 3 C [Option ID = 5130]
3. C B D [Option ID = 5131]
4. A B D [Option ID = 5132]

Correct Answer :-
e A BB [Option ID = 5129]

86) ‘QIFIGI 1N, IINYNAQ LINGIN, MEQTO B 917 cegAIIN’
-929GeR 2AFTE6E 6RULAICFTA §6l FFINE 99! |

A. Q9IS ALIZ



B. 66IIQUSIS Eig]

C. @R949I< A4

D. 6GlIERMIFTLIN AR
0 A% a8IE a9 |

[Question ID = 1284][Question Description = S2_qSNz_PG_ORI_Q96]
1. A, B, C, D [Option ID = 5133]
2. D, C, B, A [Option ID = 5134]
3. C, A, D, B [Option ID = 5135]
4. B,D, A, C [Option ID = 5136]

Correct Answer :-
e A, B, C, D[Option ID = 5133]

87) 969g, €2, NCEIF, €Yl - eAeFA A°gD A6 F9Y FI9LYES
ARl |

A. glo1g
B. €], 216 B 2CACNET
C. §ISQIEReI6S
D. @°ClI6S6ERI
0% Q9G 5106 a9 |

[Question ID = 1285][Question Description = S2_qSNz_PG_ORI_Q97]
1. A, B, C, D [Option ID = 5137]
2. D, C, B, A [Option ID = 5138]
3. C, A, D, B [Option ID = 5139]
4. B,D, A, C [Option ID = 5140]

Correct Answer :-
e A B, C, D [Option ID = 5137]

88) @9, GIgeY, 9691 6 T ¢Q 2Aggieq geldiesg ARI2 |

A. g8%

B. Al9ReSS

C. 636619

D. §ggld *FUR

0@ 09s 8106 a9 |

[Question ID = 1286][Question Description = S2_qSNz_PG_ORI_Q98]



A, B, C, D [Option ID = 5141]
C, D, A, B [Option ID = 5142]
B, A, C, D [Option ID = 5143]
D,C, A, B [Option ID = 5144]

1. )
2.
3.
4.

>

Correct Answer :-
e A, B, C, D [Option ID = 5141]

89) aINIFT, FERIF, SQRIT B AITACIA AFFFER FY 0ACYSY
aeld |

A. SI6ll
B. 19

C. dIg6RURE!

D. g@gI

0 A% a8I¢ a9 |

[Question ID = 1287][Question Description = S2_qSNz_PG_ORI_Q99]
1. A, B, C, D [Option ID = 5145]
2. B, D, A, C [Option ID = 5146]
3. B, A, D, C [Option ID = 5147]
4. D,C, B, A [Option ID = 5148]

Correct Answer :-
e A, B, C, D [Option ID = 5145]

90) RISIFIR 2AF6R AERYZaR 6 FFINE a9 |
A. AR €654l

B. AEQIQ

C. SRR

D. 6dlQd

0 QA% a8IE a9 |

[Question ID = 1288][Question Description = S2_qSNz_PG_ORI_Q100]
1. A, B, C, D [Option ID = 5149]
2. B, D, A, C [Option ID = 5150]
3. B, A, D, C [Option ID = 5151]
4.D,C, B, A [Option ID = 5152]

Correct Answer :-
e A B, C, D [Option ID = 5149]



Topic:- Oriya_SHAAN_NOV21B

1) QYMEIE 2AFERLT A0 daea 49969 @aq &2 |

2IRIE RIS 6NIFA AYY 62Q T § 629, RISFA AIPNY AN TAg IS
gqa 91 genlag, I 5el6q 89 @a ¢ 2 9IRINEG QARG 95Ql
QEIgY | FRQ QElG, FRa TPRCI IR U9g Sl SITINQ ASENSRG
6919 69R UINEERIG 658l QR 699R msi SISl FRR SRl eqsi
F6RQ JEUNSIg 629; TR 6719 §F 469 & 69IESIg 6291 92U
@elg YRR FACA INKAE | R°ARCA FGAFYS VUV g FEF,
Self-integration-gl1GI6Q YR  6dNZP-Rd6gAeq <4al 62Q8
QUeQIAIfRl 981 Asieqiddieaa 98 egelitl @ Aeg | Ad6H9q
218 IS 6RING & NGI6R SLIAINE o, JedR | SIYaIs Fe9g
64 6QE 2IYA6M, 64 CIFQ 9T TG 96I6Q 2RIF 62RUR | SIFA @
AR AIGHE, @ AN YII; CIFA FY6M F1E, Y6M 649 AS; ST G388
¢ oA, g8 § @ AMII RQOIFIFG AIF1 QG] 69 6Q9R TR TIMAEM
43R QY F2A69 | AT K1996Q 2l6e ST, Y6 B 99E S48 GIF, 6668
2if1g LIYRST dA $ag REEY6ST 91 IRIQE @AQIG 689 |

R1999 €128 AYY 69T §62 ?[Question ID = 1289][Question
Description = S2_qSNz_PG_ORI_Q36]

1. 9998 [Option ID = 5153]

2. 52 YRIgS! [Option ID = 5154]

3. JQ 8916986l [Option ID = 5155]

4, QUL & [Option ID = 5156]

Correct Answer :-
« 999% [Option ID = 5153]

2) BANSIS 2AF68LT AI0NE 996! 999590 2 G2 |

2ARIE FIEE ENILA MY 6€Q T § 629, RITFN IPNY AN QG IS
gqa Q19 geMIVg, QI ggleq ]9 @?g e 2 IRINEG QARG 99Ql
QERY | §R9 gEIT, FRQ FPRCI AR 99g Sl SIFINQ ARG
6919 69R UINERRIG 699l QR 689R Qﬂ?ﬁi SISl faq SR eqsi
F6RQ FEUNSIG 629; TR 6719 & 469 & 69IFSIg 6291 IR
Qelg AaIq TR I19é | R°ARNECR FAFIIPER QNI A FLF,
Self-integration-l1GI6Q YR  6ANF-QA469deq edal 62QR
UIeAIIGR 91 AYLIAAIRTR 98 Qgdlsl G 2Aee | AYEFAR
218 IS 6RING & NGIER FLIAINE e, JedR | SIYRIT Feeg
64 69T 2IgA6M, 64 ST 9T 1 g6I6Q 2ALIF 62RQUM | SIFA @
AR AIRdE, & M Y6I; SIFQ FYEM 61g, Y6 698R g; CIFA 8%



¢ @AM, g9l § @ AN QEIfieg dIF1 QF 69 699R AN FIMem
Acua QA 26 | AT R19969 26 ST, I B gge F92 0Ig, 6869
29g IR A $ag RE6H69E 91 IR1IRE KALIG 689 |

caurlleg e §RIIRAIRAS ?[Question ID = 1290][Question
Description = S2_qSNz_PG_ORI_Q37]

1. 009 6919Q 76 FE6 6919a2S! QU [Option ID = 5157]

2. Q99 FrReIq IS QY@ [Option ID = 5158]

3. 991 B 98616Q AARRIAG QYBe [Option ID = 5159]

4. Q41 6 21994 9 AIYY U@ [Option ID = 5160]

Correct Answer :-
e JEQ 6@l9'g [~ 7196 6L Qq@@ [Option ID = 5157]

3) GYmele APEELT AIOKR daea 49969 Qe &2 |

2IRIIE RIEE 6NN AYY 62Q € § 629, RITFA PN IR TAg IS
gga el gemiag, fIFl F8l6q 89 asg ¢ 2 9IRIQE 9AQl 95Ql
QEIgY | FRQ QElG, FRa TPREl IR 99g Sl SITINQ ASENSRIG
6418 69Q AINEERIG 69 FAQ 699K 9@.@ PIFSI Gaa SR eqsi
F6RQ EUNSIG 629; AR 6719 £ 469 & 69IEGIg 621 92U
Qelg AaIq TR I1Fdl | R°AURECR FAFIIPR AV A FLG,
Self-integration-glIGI6Q YR  6ANF-QA46Tdeqa edal 6TQf
|UeQIAIfRl 981 aAsieqidieaa 98 egelitl @ Aeg | Ad6H9q
218 IS 6RING & NGI6R SLIAINE o, JegR | SIYRIs Fe9g
64 6Q% 2IgA6M, 64 ST 9T ¥l g6I6Q ALIS 62Q2UR | SIFA @
AR AIGHE, @ AN Y6lI; CIFA FY6M F1E, Y6M 648 AS; ST T8¢
¢ @AM, g1 § @ AN QGIRIFG I A 64 699R 2GRN FIMAEM
43R QY €269 | AT K1996Q 2l6e ST, I B 996 S9% GIF, 6668
2if1g QIR dA $ag REEY6SE 91 IRIQE @AQIG 689 |

6995 ‘QUISAATS 5’ AV 96 ?[Question ID = 1291][Question
Description = S2_qSNz_PG_ORI_Q38]

1. IQYIgLR&l [Option ID = 5161]

2. §°98e! [Option ID = 5162]

3. €18 9°AAGI [Option ID = 5163]

4. 99R9 999QS!

[Option ID = 5164]

Correct Answer :-
o AUl [Option ID = 5161]



4) SANGS AFERTT A0 ANl g9 aaa & |

2IRIE RIEE 6NFA AYY 6€Q T § 629, RITFA AIPNY AN TAg IS
gqa eIgl gemIae, SIRl ggleq 89 @a ¢ 2 9IRINEG QARG 95Ql
QESY | FRQ QEldl, Faa ferRel AR 99g S SIFINN ASEISHG
6419 69Q AINEERIG 69 KRR 699R FRg FIFSI Gaa SRl {gg
F6RQ JEUNSIG 699; AR 6719 §F 469 & 69IEGIg 6291 92U
@elg YRR TACA INKAE | R°ARCA FGAFYS QW g FEF,
Self-integration-gl1GI6Q IR  6ANP-RAEHIITR ¢l  6LQ8
UIeAIIAR Q& ASISANANSFA g8 Qgslsl B Aee | RE6YAR
218 IS 6RING & NGI6R SLIAINE o, JedR | SIgRIs Fe9g
65 6QE 2IYA6M, 64 ST 9T TG 96I6Q 2RIS 62RUR | SIFA @
AR 21edd, & UM Y6I; SIFN Y6 61g, Y6M 6X9R AS; CIFQ T8¢
¢ oA, g8 § @ AR RQOISIFF AIF1 QG] 69 6QR TR TIMAEM
43R QY 269 | AT F1996Q 2l6el ST, I B 9§E S9% GIF, 6668
2if1g UYL A $ag REEH6ST 91 991G @AQIG 689 |

399 62Q FEIT SIYRIF TISIER QAR ?

[Question ID = 1292][Question Description = S2_qSNz_PG_ORI_Q39]
1. 4341996l [Option ID = 5165]

2. 69RP-R&699] [Option ID = 5166]

3. AUl SYLIE@ [Option ID = 5167]

4. LTSI & [Option ID = 5168]

Correct Answer :-
o AUl [Option ID = 5165]

5) QEYMEe ALERLT AIOKR daea 49969 eaq &2 |

2lIE] 19T 6AISA AYY 62Q €1 | 689, KITFA AIPAY IR Fag A1
998, QI geRIAN, AI F5I6a 8% G & 4R INIPS QAT adel
QEQY | FR gElsl, Fe TerRel AR 99g Sl SIZIaN ATISRIG
6218 60Q GINCLSIG 65 KRS 689 Fag FIFSI Faa I Fgg
F6aR P6UNGIG 689; FRN 6819 7R 469 & 6]IESIg 6891 YaIR
FoIg 20QIa Fa6a IR19E ] R AR FASLIRe AUVEN NG KT,
Self-integration-€l1816Q. 9@  6ANP-Ad6edaeq <4del 62af
QURAIAAR §F | ASSANIASFR §F SIS G 298 | Y6FAR
218 Q15281 6RIFG € NIER GLIINS G, JegR | SIgRIT §99g
654 69T 2IYA6R, 69 CIFA 9T U1 FEI6Q 2ASIS 6LAYEA | FIFA ]
ARl 2lede, ¢ ARl Q4l; SIFN F2UCA €IS, Y6M 699R f8; CITR g8



¢ @AM, g9l § @ AN QEIfieg dIF1 QF 69 699R AN FIMem
Acua QA 26 | AT R19969 26 ST, I B gge F92 0Ig, 6869
29g IR A $ag RE6H69E 91 IR1IRE KALIG 689 |

R19ER GEISING AT I6GR 681 ?

[Question ID = 1293][Question Description = S2_qSNz_PG_ORI_Q40]
1. QIFIAR ASSRG 6QIY 6@ [Option ID = 5169]

2. AU 98 6L @A [Option ID = 5170]

3. QULQIIFRl 9&6Q Tag IRIg @R [Option ID = 5171]

4, 999 2ULeRE B Jag &Ll @4 [Option ID = 5172]

Correct Answer :-
* QILIQR YUOEIINMIG 6XIY 64@ [Option ID = 5169]

Topic:- Oriya_SHAAN_NOV21C

1) GERGIS 29689 A0SR AaS6 9F9FeR Qe G2 |

AgaY RIS @191 REAIGNAICS 6997 6962969 IRTe deagial
SIRG 62IQ FSRMIgl F9IE *Q8I g AgaIa §eAAIAIF AI699E 89!
6266969 Qe 9@ A8 69 9RAYLIN dARIRG] FAGHIQ FIRI1F 65K
Q6N FRQ F6Q 9T IRAFSI AR 69IM AIFER AIFSE 98° ILIR
QUYD CIRFIFIAI 69 699E MW AL AMA €91 @g AgEY I
6gin 9= 2Agd | 294 49 W19 AN6Q AR YRINGEI - 6@ 9€ QB
YRR & Fae 2AqAQ R g6€ ? 9F DR AULILLIN A0 U6Q 6T
S¢AG 6291 @ SILl IV6Q FOIE AAUNGEE ? 6868 FUISI FILG SILIg
98 2RJFIN DRIE F6M ? 69 @ 969 FYOR 64 QIR dISNG 699 AR
2N 690 SITIA §ERCI FTQ SIF F601a §113 gLIE K68 ? AIg AR
QS 7 JRISSIQ AUSYSLIQ AIY 98° FAIRRIIQ 2g4el SILIa R
qRneel 98° 2g4del g6 ARG 6LIa AIGSIgieq alge 23§ 9aS
QARG | 2% IF GBTF CILIA 6519SQ 628G | JIAQ ARl & Y6 A9 G
a4 flI6R B8 g 6@Q ¢ 2I1gll g8 2g4del € eigla gdeigida egiale
- Ag9Y AIGGIQ aqqiel AgWS 9R ALERIR 698 g4 AIed 2eg
AGIN 62RYS | ILIR FUGIF FUG| 91 FUISIF 2969 Agede
FI91 9€ Q6K IS 9 98° FIeS R199a dIdee AR g9

RN 46Ol flee 6QQ Q8 @9 ?[Question ID = 1294]
[Question Description = S2_qSNz_PG_ORI_Q71]

1. F199Q KISLICIR 6364 Q/Q [Option ID = 5173]

2. FIRSR 9RYLRA JURSIRG! GR/R [Option ID = 5174]

3. CIRSQ @8 6 /18 9& Q&Q [Option ID = 5175]



4. 1999 YRGS 9@ §&Q [Option ID = 5176]

Correct Answer :-
o IR RFRAIGIA 6FEIHY q@@ [Option ID = 5173]

2) BANSIS 2AF6RLT AI0NE 996 999590 2 G2 |

AgaY RIS @191 REAIENAIES 6997 668969 TS de@agial
SIRG 62IQ LRS! F9IE R8I G AgAIa JLTAIAIT AI6996 89!
6966969 Qe 9@ 28| 69 9RAYLIN dARING| FAGHIQ RIS 65K
QAdER FUR F6R I QRINSGI AR 681N AIFSR FAIFEE 99° ILIR
QUYD FIRFIFTIAI 69 699¢ MR ARG AV 91 @g AgEY I
6gin a1 2Agd | 294 49 19 AN6Q AR YRINGEI - 6@ € QB
YRR & a6 AcAR R g6L ? 9F DR AULILLIN 99 6L 6T
366 6291 & CI9l A96Q G018 AASANGEE ? 6869 FUIGI FIEG ILlg
98 2RJFIN RIS F6M ? 69 @ 969 FYORN 64 QIR FISNG 699 AR
2RIFIN 69R GILIN §ERC| FAQ GIg K60I9 £118 g9IF KR6S ? dId 2R
Q26 7 JRNSSIQ AULYSLIQ AIg 98° AIRQIAIQ 2Ag4del SIgIa R
qRIeel 99° 294el g6¢ AR egiq AIgSIgIcn Alda 23 9aS
RAALE | 22e 9T §6T CITIN 6§19E8R 621 NG ORI & Y6M AGAY B
a4l f1I6R B8 Al 6@Q ¢ gl g8 2g4el € eigla gdeigida cqiale
- A99QY AIGGIRQ aquel AgWE @7 AeeRIR 698 94 Aed 2eg
AR 62Q2YS | ILIE FUGIF FUK| 991 FUISIF 2969 2lgdedel
FI90 98 Q6L AIYE €9 99° FIFE 19ea kIS RAlw g9

AISER FIFSE B 699€ RITIAU6Q FAQNG ?[Question ID = 1295]

[Question Description = S2_qSNz_PG_ORI_Q72]

1. f99Q QPR Y& AUER [Option ID = 5177]

2. 19 INDG| QA6 [Option ID = 5178]

3. FI99R ARG SRR QYYD IRSIRE! QAER [Option ID = 5179]
4. UG 2ENGIS QU6 [Option ID = 5180]

Correct Answer :-
e AR VAR S}@ @46 [Option ID = 5177]

3) GYmele APEELT AIOKR daea 49969 eaq &2 |

aAgay IRNG @191 REAIGNFCT 6R9R 6966969 IRTe geagial
SIRG 62IQ F19RLIgl F9IE *Q8| g AgaIa §LAAIAIF AI699a 89!
69266969 AFeR 9@ 28| 69 9RAYLIN dARIRG| FAGHIQ FRI1F 65K
QUEQ TR Q61 9F RIS 2A] 6SIR AINeQ AIeeq 9e° ILIR
QdID FIRFIFIAU 69 699¢ R ARG A 91 g AgAY RIS



6gIn g&l 2Ag4 | 294 99 @18 9968 9gR RANGE] - 66 ¢ B
YRR & Fae 2AqAQ R g6€ ? 9F ﬁl@a ALYLLIQ 27 U6S U6Q
SAe 6891 & CILI 996 FOIT AALANGES ? 6668 FUISI FIEG CILlg
9E€ 2RJFIN IRIE F6M ? 69 @ 969 FYORN 64 QIR dISNG 69T AR
2RYRIN 69R CITIQ QERCI FAQ 19 F60IQ I LIS *R6S ? 419 AR
QUG 7 YRNSSIQ AULUISLIQ AIF I9° AIRQIIN AY4S! SIFIQ R |
qReel 98° 2Ag4del g6 ARG 6LIQ AIGSIgiea alge 23 9aS
RQ2ARG | 22S IF TBTF CITIA 659ER 628G | JIAQ ARl & Yem AgHY G
a4 FIIER @R flig 6@Q ¢ 2Ig 98 2948l § cigia gdeigida sqiale
- A99Y AIGGIQ aquiel AgVS @R A9ERIR 698 g4 AIed 2eg
A9 68Q2S | YLIR RUIGIF FUIF] 91 FUCIT 296Q 2FAAdé
F191 9€ Q6K IS 9 98° FIFS R196a dIdee AR g9

AIeeq 99 2Aqdq NG K&l ?[Question ID = 1296][Question
Description = S2_qSNz_PG_ORI_Q73]

1. QIR RIS [Option ID = 5181]

2. FI9SR 2RI [Option ID = 5182]

3. CIRSR YRR [Option ID = 5183]

4. 199 AL°RIRQ [Option ID = 5184]

Correct Answer :-
e AR {l1eel [Option ID = 5181]

4) FIMGIC 2AFEELT 0K daeal 49969 eaq &2 |

AgQaY RIS @191 REQAIENAIES 6997 668969 TS de@gial
GIRG 62IR MLRMIGl G9IE R8I Ag AgAIa JLTAIAIT AI599E 89!
6966969 Qe 9 A8 69 9RYLIN dARING| FAGHIQ 1S 65K
QAdEQ FRR F6R IT QRNSEI AR 6SIN AIFTN FAIFEE 99° ILIR
QAR FIRFIFIRI 69 699G MR FALlg A £91 @g AgAY N
62IR N1 294 | 2Agd Y9 *16 AV6R IR YRNES] - 66 ¢ QB
AYRIQ & T9A 2AeAQ R 6L ? IT ﬂ@a AdYLTIN @R U6Q A6R
SeAG 6291 @ 0IL] IV6Q FOIT AATUNGEE ? 6868 FISI FILG SILIg
98 2RJIQ dRIe F6M ? 69 @ 96¢ FYOR 640 GER IGNG 6919 QS
2RIFIN 69R CILIN §ERCI FAQ GIg K60Ia £18 gLIF KR6S ? dId 2R
Q2AS 2 YRNSSIQ AULISLIN AP I9° AIRRIYIN AYLS! CIFIQ fR |
qQReel 9e° 2g4del g6 ARC 6Ll AIeSIgeq alge 23] 9aS
FRASE | 2AS IT QBT GILIN 6HYLN 62 | NS QI & Y6 A19AY G
a4 FRIEQ @R IS 6@S ¢ 21l 98 2Agdel & eIl gdeigida sqiale
- gy 21IEIN A4Sl AFAS KR ARLRT 698 g4 AIed 2Aeq
AGIR 622G | ILIE FUGIF FUS| 91 FUISIF 2969 2lggede
FI91 9T Q6L AIYS 9 98° FIFS R199a dIes! AR g9



g4I did &6l ?[Question ID = 1297][Question Description =
S2_qSNz_PG_ORI_Q74]

00 YRR M AA6LG! [Option ID = 5185]

QRNPCIQN QQAELIS [Option ID = 5186]

R199@Q ASMAR [Option ID = 5187]

22819l gR9S [Option ID = 5188]

Hw N~

Correct Answer :-
e 0@ 2RISR @M AJEdIol [Option ID = 5185]

5) FIMEC AFERLT IOSH AQSE g99Ge0 aan &2 |

Agay INe K191 REAIGNFIER 699R 6966969 IRIfe 9e@gIal
SIRG 62IQ MSRMISl F9IE *Q8I g AgAIa JLAAIAIT AI699E 89!
6966969 Qe 9@ 28| 69 9RAYLIN dAGIRG| FAGHUIQ FRI1F 65K
Q6N FRQ F6Q IE IRAFSI AR 68IM AIFER AIFSE 98° ILIR
QA FIRFIFIRI 69 699 MR FALIg AJF g91 @g AgAY glne
6gin g=1 2Agd | 294 49 19 AR AR YRINGEI - 6@ 9€ QB
YRR & Fae 2AqAR R g6€ ? 9F SRR AASYSLIR G U6T D69
SAG 6891 & CILI AV6Q FOIT AALANGES ? 6868 FUISI FIEG ILlg
9E€ 2RJFIQ DRIE F6M ? 69 @ 969 FYOR 64 QIR dISNG 69T AR
2RIFIN 690 SITIR §EREI TR SIF F601a §11I3 LIS 68 ? AIg AR
Q26 7 JRNSSIQ AUSYSLIQ AIg 98° AIRQIAIQ 2g4del SIgIa R
qReel 98° 2g4del g6 ARG 6LIn AIGSIgien alge 23 9aS
RAALE | 22e 9T §6T CITIN 6§9E8R 62¢ | QRIE ARl & A6M AFAY G
a4 f1I6Q B8 g 6@Q ¢ 2I1gll g8 2g4el € eigia gdeigida egiale
- AgEY 2198 aquiel ALVS 9R A9ERIR 698 g4 AIed 2eq
A9 68Q2S| YLIR RUIGIF FUIF| 9 FUCIT 296Q 2lgAAde
F191 9€ Q6K IS £9 98° FIeS R196a dIdee AR g9

R19969 129! 2169 A ?[Question ID = 1298][Question
Description = S2_qSNz_PG_ORI_Q75]

1. AIeeq 2946l @ oI /199Q QIdas! [Option ID = 5189]

2. AR IRNLGI @ Qr @199 Qldes! [Option ID = 5190]

3. QUIslw ARE6R e A8 QIS & 61 1999 A/ [Option ID = 5191]
4. PRI RIS6Q §6971g6C1IGE 621R FldY @RQIE @196 QIdas! [Option ID = 5192]

Correct Answer :-
e RN ?Jqéj%‘l @ ol 21989 alfoaa) [Option ID = 5189]

Topic:- 05th_Set11_2021 Shift 2_A



1)

The following table presents the details about the number of players participating 1n
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK, Australia. Canada. Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton
65 55 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 20 70 95
USA 55 60 65

The number of players participating in cricket from Canada is what percentage (%) of the
number of players participating in Badminton from India?

(1) 177.77% (2) 176.78%
(3) 178.87% (4) 180.82%

fAfefiaa arferm 5 a9 2020 * SHF @7 (6) fafa=1 <o (wwa, e, sAwgicrn, F=rs1, TF #R i)
o dF (3) FAAT-HAT GAT (FaieA, e AR Asfizq) g 9 o T fagentsat i e =+ =@
T R | Ao O {30 T SRS o HATGR O U9 ® 39 AMAU

TE | oA | T | dstge
B8
el 4
A 65 | 55 45
faza 70 75 40
At | 90 | 86 95
FTST 85 | 80 85
EEi 80 70 95
STafR 55 | 60 65

-

FATST |, Ta9as e O 9m1 o are Raarsal i 99 9Rd o sS$sied § 97 o are Raennsal #i
T 1 TR WiaeE 2 7

(1) 177.77% (2) 176.78%
(3) 178.87% (4) 180.82%

[Question ID = 2879][Question Description = Q1_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11513]
2. 2 [Option ID = 11514]
3. 3 [Option ID = 11515]
4. 4 [Option ID = 11516]

Correct Answer :-
e 1 [Option ID = 11513]



2)

The following table presents the detalls about the number of players participating in
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK, Australia. Canada. Spain and USA) during the yvear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

G_aEes Football | Cricket | Badminton

Countr

India 65 55 45
UK 70 75 40
Australia 90 85 95
Canada 35 80 85
Spain 20 70 95
USA 55 60 65

What is the total number of players participating in cricket from Canada, Spain and USA
and the number of players participating in Football from India. UK and Australia?

(1) 335 (2) 635
(3) 435 (4) 535

Tr=feriga arferRt 2 =9 2020 * SRF @7 (6) fata= o (vra, foea, wwiemn, wAms, #90 A7 smie)
o A (3) FASAT-AAT WeAl (Fewied, ke AR Asfieq) § wm oH ae f@entsat i @en i = e
T B | ATfeRT § 20 0 STis o SITUR OE UYA 1 399 A

i‘i?«l’ FeaTe | e | ssfue

gl

Eitn) 65 | 55 45
fam 70 75 40
At | 90 85 95
FTST 85 | 80 85
= 80 70 95
sTHfR 55 | 60 65

FHATST, T AT SAUTEHT T b § 90T oH 9rel ezl aun una, fea sii seieEn | Gedie 5 W
(1) 335 (2) 635
(3) 435 (4) 535

[Question ID = 2880][Question Description = Q2_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11517]
2. 2 [Option ID = 11518]
3. 3 [Option ID = 11519]
4. 4 [Option ID = 11520]

Correct Answer :-
e 1 [Option ID = 11517]



3)

The following table presents the detalls about the number of players participating in
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK, Australia. Canada. Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton
65 66 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 20 70 95
USA 55 60 65

The number of players participatinge in Badminton from all the six countries is
approximately what percentage (%) of the total number of players participating in all the
games from Australia?

(1) 134% (@) 164%
(3)  126% @) 157%

faefeTiaa arfert a9 2020 * SUF B8 (6) fafa=T <o (Wwd, e, siegicrn, FArsT, ¥ SR 7Hien)
o 1 (3) SAeT-Hem Well (Fesie, e AT Asiied) § wm o 9t fgentsat i @en w s G
e T 11 e e i et e | i s 12 el il o e o Ml 2 L L

Bl

1A 65 | b5 45
faea 70 75 40
wefem | 90 | 85 95
FTST 85 | 80 85
LSE| 80 70 95
safR 55 | 60 65

i oE 29 | dsfizd § 9 o e fgentsal 6 g Ao 99 gl § 9 o ael faensdn
Tl WEAT FT ST A TiaeE (%) 77

(1) 134% (2) 164%

(3) 126% 4) 157%

[Question ID = 2881][Question Description = Q3_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11521]
2. 2 [Option ID = 11522]
3. 3 [Option ID = 11523]
4. 4 [Option ID = 11524]

Correct Answer :-
e 1 [Option ID = 11521]



4)

The following table presents the detalls about the number of players participating in
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK, Australia. Canada. Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton
65 66 45
70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 20 70 95
USA 55 60 65

If country A represents the highest number of players participating in Football and
country B represents the lowest number of players participating in Badminton,

then (A, B) =
(1) (Australia, UK) (2) (Canada. USA)
(3) (Australia, Canada) (4) (Spain. India)

H’EI%IRQHWH?HZOZUTWE?(G)WW{W 5o, amfer, e, ¥ SR et
o 1 (3) SAeT-Hem Well (Fesie, e AT Asiied) § wm o 9t fgentsat i @en w s G
T 7 | AT 1 TS0 T SES  SUT O U9 39 S0

i
Ty

qHA 65 55 45
farea 70 75 40

weefemr | 90 85 95
FATET 85 80 85
| 80 70 95

mm.—’aumﬁuwmmugmucutﬁruwu HEfaF 2 791 =9 B o ssfza 9 |51 o a

faenfzal &t Trem =Fan 2 91 3 3F1 39 (A, B) = 2
(1) (s, fa29) (2)  (F=T, i)
(3)  (wAm=fern, wrsT) (4) (¥, 97d)

[Question ID = 2882][Question Description = Q4_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11525]
2. 2 [Option ID = 11526]
3. 3 [Option ID = 11527]
4. 4 [Option ID = 11528]

Correct Answer :-
e 1 [Option ID = 11525]



3)

The following table presents the detalls about the number of players participating in
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India. UK, Australia. Canada. Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

Football | Cricket | Badminton
65 66 45
UK 70 75 40
Australia 90 85 95
Canada 85 80 85
Spain 20 70 95
USA 55 60 65

If 60% of the players participating in all the games from Spain are male and 30% of the
players participating in all the games from Australia are female. then what will be their
ratio? (male : female)

(1) 127:170 (2) 13:7
(3) 49: 27 (4) 87:55

FrericTiiga avferm 3 =9 2020 = 20F @7 (6) Tl 220 (9rA, e, Ao, warsn, T S =)
o dF (3) FAFT-AAT Tl (oA, TR R ASfiz) d 9 o T et i e s S
T E | AT § 19U U SRS SR 9T U9 A I ST

_F e
Ty
qHA 65 55 45
farea 70 75 40

wefern | 90 | 85 95
FATE 85 80 35

e 80 70 95
STafT 55 60 65

a3 TF W wd Tl F e a fEetsa § 1 60% faerst 5w iR s ¥ wi wed q ar e
are figentsal 9 ° 30% Wiawd Eerst Afee & @ Sl FEidd 9l # 9 w2 ¢ (799 - Aieen)
(1) 127:170 2y 13:7

(3) 49 : 27 (4) 87:55

[Question ID = 2883][Question Description = Q5_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11529]
2. 2 [Option ID = 11530]
3. 3 [Option ID = 11531]
4. 4 [Option ID = 11532]

Correct Answer :-
e 1 [Option ID = 11529]



Topic:- 05th_Set11_2021 Shift 2_B

1)

Understanding individual differences helps a teacher in :
(A) Designing the course materials

(B) Planning a training programme

(C) Designing teaching strategies

(D) Understanding the subject matter

(E) Raising the intelligence level of students.

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (C). (D) and (E) only (4) (A). (B) and (E) only
FafFaw afa=ral = 993H ° U 9eUE 6 988 Wedl 2

(A)  IEEEE =T TSSE w H
(B) it wime =i TS S A
(C) Tz wEwg = g

(D)  Taum T = g o

(E) Toenefi + wosedl = &1 5eH |

Hi= f3u U e | ® HEE S S99 i
(1) ==« (A), (B) #i (C) (2) == (B), (C) 317 (D)
(3) =« (C). (D) #F (E) (4) =a« (A). (B) 3 (E)

[Question ID = 2884][Question Description = Q06_GP_Set11_S1]
1. 1 [Option ID = 11533]
2. 2 [Option ID = 11534]
3. 3 [Option ID = 11535]
4. 4 [Option ID = 11536]

Correct Answer :-
e 1 [Option ID = 11533]

2)
Which of the following 1= true about understanding level of teaching?
(1) Imparting factual information
(2) Teaching to comprehend the concepts

(3) Teaching to explore the field of knowledge
(4) Teaching to develop rational thinking



foreror & =g T % 9w § fefoiga § @ w9 @ e 27
(1) AEATIHE H=AT T2H AT

(2)  FEEEOTHAT H THIH = o e

(3) W &3 F = =g e

(4) Aok ET = feeRr = fere faram

[Question ID = 2885][Question Description = Q07_GP_Set11_51]
1. 1 [Option ID = 11537]
2. 2 [Option ID = 11538]
3. 3 [Option ID = 11539]
4. 4 [Option ID = 11540]

Correct Answer :-
e 1 [Option ID = 11537]

3)
A group of DTH channels devoted to telecasting educational programmes 24 x 7 basis 1s :
(1) Swayam (2) MOOC
(3) Swayam Prabha (4) Gyvan Darshan

24 x 7 T2 ATATRA IATEF FEFAT FT TG FH =q TEOG ST 2 T S F OF TYE 7
(1) = (Swayam) (2) 7% (MOOC)
(3) =F T @) T =

[Question ID = 2886][Question Description = Q08_GP_Set11_51]
1. 1 [Option ID = 11541]
2. 2 [Option ID = 11542]
3. 3 [Option ID = 11543]
4. 4 [Option ID = 11544]

Correct Answer :-
e 1 [Option ID = 11541]

4)
Which of the following 1s a learner-centric teaching method?
(1) Demonstration (2) Drill and Practice

(3) Question — answer (4) Cooperative learning



i

FeTeE § T FH-H1 et g Tgid 7 7

(1) P (2) fs=1 3t s10a |
(3)  UvHA-IW (4) H=ATh At

[Question ID = 2887][Question Description = Q09_GP_Set11_51]
1. 1 [Option ID = 11545]
2. 2 [Option ID = 11546]
3. 3 [Option ID = 11547]
4. 4 [Option ID = 11548]

Correct Answer :-
e 1 [Option ID = 11545]

3)

What 1s true about non-formal learning environment?

(A) Learning does not take place 1n a structured way
(B) Does not aim at certification

(C) Learning takes place in a structured manner

(D) Takes place outside formal educational structure

(E) Intends to achieve pre-determined educational objectives

Choose the most appropriate answer from the options given below :
(1) (C) and (D) only (2) (D) and (E) only
(3) (A) and (B) only (4) (B)and (C) only



T —aftoaTiR Sfern Tl % an 5 gE A

(B) == UHIURIU] =T 3279 A5 TGl 7 |

(C)  =Afermm =maftaq 201 9 7 9 2|

D)  F= HAT=E AT GT= % =R B 9 F

(E) =7 YE-Taifa 3ifas 3294 #1 o 3 1 5=En vg 2 |

+= fou o fapet @ weE T S H 999 i

(1) F=a (C) 317 (D) (2) A« (D) 311 (E)
(3) 4w (A) #R (B) (4) e (B) ¥R (C)

[Question ID = 2888][Question Description = Q10_GP_Set11_S51]
1. 1 [Option ID = 11549]
2. 2 [Option ID = 11550]
3. 3 [Option ID = 11551]
4. 4 [Option ID = 11552]

Correct Answer :-
e 1 [Option ID = 11549]

6)

A guestion whether the findings by social science researchers are relevant to the everyday
life people in natural settings is called :

(1) Validity of relevance (2) Natural validity
(3 Social validity (4) Ecological validity

T2 WA & T s uiem § A fEe et ge o T e T9 S e 9 # e
UTEITE B A1 A8 &, o Fa A

(1)  dagal =ht dyar (2) TS dear
(8) @IS dET (4) iR A

[Question ID = 2889][Question Description = Q11_GP_Set11_51]
1. 1 [Option ID = 11553]
2. 2 [Option ID = 11554]
3. 3 [Option ID = 11555]
4. 4 [Option ID = 11556]

Correct Answer :-
e 1 [Option ID = 11553]



7)

The notion of turn-taking 1s employed in :
(1) Historical research (2) Phenomenology

(3) Critical discourse analysis (4) Secondary analysis

qrs o (ZA-11) 1 HEUE = e TR w5 E

(1) et g 9 (2) FwEEE fTEE o
(3) A=A == fEvemn | (4) faefs fawamm g

[Question ID = 2890][Question Description = Q12_GP_Set11_51]
1. 1 [Option ID = 11557]
2. 2 [Option ID = 11558]
3. 3 [Option ID = 11559]
4. 4 [Option ID = 11560]

Correct Answer :-
e 1 [Option ID = 11557]

8)

Which of the following are 1ssues In writing a research proposal?
(A) Selection of the appropriate topic

(B) Framing of research objectives

(C) Framing of hypothesis or research questions

(D) Convincing friends and colleagues

(E) Choosing the correct research method and data analysis technique

Choose the correct answer from the options given below :

(1) (A (B). (D) only (2) (B). (C). (D) only
(3)  (A).(C). (D) only 4) (A). (B). (C). (E) only



ffefEa 7 & =9 g weaTE JET § gE B

(A) 3=d T9E F T

(B) g IETEl H A=A HAT

(C)  FFeT AYET I W91 B d= F

(D) T ST S A

(BE) %1 9y Ugfd 3717 30 faveio a1 = g |

4= fon T o= 5 9 99 39 F1 =59 i

(1) === (A), (B). (D) (2) F== (B), (C), (D)
(3)  Fa= (A). (C). (D) @ Fa4 (A). (B). (C). (E)

[Question ID = 2891][Question Description = Q13_GP_Set11_51]
1. 1 [Option ID = 11561]
2. 2 [Option ID = 11562]
3. 3 [Option ID = 11563]
4. 4 [Option ID = 11564]

Correct Answer :-
e 1 [Option ID = 11561]

9)
Given below are two statements :

Statement I: Integration of gqualitative and quantitative research methods is a trend
accepted in social science research.

Statement IT: Some critics say that research methods have ‘fixed epistemological and
ontological implications’ and as such mixed methods are not desirable.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement II is falze

(4 Statement I is false but Statement IT is true



Hr= =1 e fao o 2

Fo (I) :  TONcHF A AETCES 9 Tgid 1 TR AT (@5 99§ ihd T i |

w0 (II) : TS HATA=Hl F1 Fedl & 6 WY Ugid & Faiia FemE 50 aaees qrad’ 2 s s
qql{%{h{aﬂ q*d!\qb ":i‘:"thq:'Tr_ﬁ%l

IUTE YA = AT 4, = fqu T faeut § @ w8 39 1 == i

1) FFEIATIIHE a3 7 |
(2) =y I %W I 2MT o/meT & |
(3) w15 7, @ FuA 1L 39 # |

(4) w9 I FE 7, =ik we [ E 7 |

[Question ID = 2892][Question Description = Q14_GP_Set11_51]
1. 1 [Option ID = 11565]
2. 2 [Option ID = 11566]
3. 3 [Option ID = 11567]
4. 4 [Option ID = 11568]

Correct Answer :-
e 1 [Option ID = 11565]

10)

Constant comparison 1s a tool used in :

(1) Grounded theory (2) Femmstic theory
(3) Relational theory (4) Grand theory

fE9 et ST =T T TR BT 2 7

(1)  wfgefa (msss)fogm (2) TrEE! fagrd
(3) CHE R (4) g HZE

[Question ID = 2893][Question Description = Q15_GP_Set11_51]
1. 1 [Option ID = 11569]
2. 2 [Option ID = 11570]
3. 3 [Option ID = 11571]
4. 4 [Option ID = 11572]

Correct Answer :-
e 1 [Option ID = 11569]



Non-verbal communication 1s :

(1) Impractical (2) Indifferent

(3) Non - repetitive (4) Sub-conscious

HIITEaa JUI0 2 —

™

(1) HAHER (2) _'-P*-I_H-nl:[
(3)  T-TEENE (4) FE-TH

[Question ID = 2894][Question Description = Q16_GP_Set11_S1]
1. 1 [Option ID = 11573]
2. 2 [Option ID = 11574]
3. 3 [Option ID = 11575]
4. 4 [Option ID = 11576]

Correct Answer :-
e 1 [Option ID = 11573]

12)

Which of the following are barriers to understand the communicated message?
(A) Pre - judgement

(B) Source credibility

(C) Length of communication

(D) Source creation

(E) Existing knowledge of the receiver

Choose the correct answer from the options given below :
(1) (A). (C) and (E) (2) (B). (D) and (E)
(3)  (A). (B) and (D) 4) (0C). (D) and (E)



[ = s

TfYd H29 F THFA ° Hefeigd § ® - s E 7
(_ﬂg_} q_?j—n rd

(B) i = TavaEHiEa

(C)  @gm i e

{D;I a:|?| T eI N

(E) 7=t =1 faoam 79

Fr= fau o famei 9 | wE I 0 == Fi

(1)  (A), (C) 3t (E) (2) (B). (D) ¥ (E)
(3) (A, B #T (D) 4) (C). (D) #iv (E)

[Question ID = 2895][Question Description = Q17_GP_Set11_51]
1. 1 [Option ID = 11577]
2. 2 [Option ID = 11578]
3. 3 [Option ID = 11579]
4. 4 [Option ID = 11580]

Correct Answer :-
e 1 [Option ID = 11577]

13)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Western communication tradition emphasizes the cognitive ahbility of
students.
Reason (R) : Language precision does not have a place in the western system of

communication vis-a-vis students’ ability for knowledge appropriation.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) iz not correct but (R) is correct



+= 71 Fom fow o 2 . v sAfuEYS (Assertion A) F =9 ¥ feffiga # A1 gE0 38 FEW (Reason R) F

=1
HfFyE (A) : TTT=Ted TR TEE H il i SEeRE S W fSm e # |
#=rm (R) : Ty i e W | faenefi # {m e auar i geen § 9 gerwa w0 R

e 3
HHEARI T |

IYE FY o AR °, A= 30 T fawed # g9 S99 S5 0 99 i

() (&) W R) ZA TE F 300 (R). (A) F 7 == 2|
@) (A) 3T (R) 3T wE E A (R), (A) 1 w8 s aE
(3) (A gF 2 @ (R) 581 75 # |

(9 (AT FE 2 Al R) TH 20
[Question ID = 2896][Question Description = Q18_GP_Set11_51]
1. 1 [Option ID = 11581]
2. 2 [Option ID = 11582]
3. 3 [Option ID = 11583]
4. 4 [Option ID = 11584]

Correct Answer :-
e 1 [Option ID = 11581]

14)

The sequence of communication zones based on individual distances 1s

(A) Public zone
(B) Intimate zone
(C) Personal zone

(D)  Social zone

Choose the correct answer from the options given below :

(1) (A, B). (©). (D) (2)  (B).(C), D). A

3y (O). (D). (A), (B) @ D). @A), B). (C)



(A) HEAEF aF (qfEers T1)

B) T EE

(C)  aFfFTs &

(D) T &

I T2 70 T 0 ° TRl 39 9 999 S0

(1) (A). (B). (C), (D) (2) (B). (C), (D). (A)
(3) (C). (D), (A), (B) 4) (D). (A). (B), (C)

[Question ID = 2897][Question Description = Q19_GP_Set11_51]
1. 1 [Option ID = 11585]
2. 2 [Option ID = 11586]
3. 3 [Option ID = 11587]
4. 4 [Option ID = 11588]

Correct Answer :-
e 1 [Option ID = 11585]



Match List T with List IT

(A)
(B)
(©)
D)

List I

Type of information and meaning
Content information

Relational information

Social meaning

Subjective meaning

List IT
Description of Characteristic

(I) Shared

(ID)
(IIT) Factual

Personal

(IV) Communicator’s feeling

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(4)-(ID), (B)-1I), (C)-a@V), M)-(D
(A)-(III). (B)-(IV), (C)-T). (D)-(D)
(A)-(D). (B)-(II). (C)-(IV). (D)-(I1I)
(A)-(IID). (B)-(IV), (C)-(D). (D)-L)

=1-1 % @9 g=i-I1 =1 foerm it

(A)
(B)
(©
(D)

-1
AT S A TER
LI EEe ]

faoama =19

T=1-11

=

(1) =i
(IIT) F=aTH=

4= 27 @ faedt 8 ° 9E 39 F =994 Shien

1)
(2)
(3)
(4)

(A)-(II). (B)-(IID), (C)-AV). (D)-(D)
(A)-(11I). (B)-(IV), (C)-AI). (D)-(D)
(A)-(D). (B)-(II). (C)-(IV). (D)-(I1I)
(A)-(11I). (B)-(IV), (C)-(I). (D)-(1I)

[Question ID = 2898][Question Description = Q20_GP_Set11_51]
1. 1 [Option ID = 11589]
2. 2 [Option ID = 11590]
3. 3 [Option ID = 11591]
4. 4 [Option ID = 11592]



Correct Answer :-
e 1 [Option ID = 11589]

16)
Consider the following statements regarding clocks :
(A) In 60 minutes. the minute hand gains 55 minutes on the hour hand
(B) In every hour, both the hands coincide once

(C) When the two hands are at right angles, they are 15 minute spaces apart.

Choose the correct statements from above :

(1) (A) and (C) only (2) (A). and (B) only

(3)  (B)and (C) only (4) (A). (B) and (C)

qfsal & 91§ teiiad F9 W faEn fifae

(A) 60 fomz o fomz it g2 =2 i g2 il 91 9 55 oz sifas i wurfas o a7 =t 2
(B)  TEF 92 3A1 g1 v AW ferd # |

(C) =9 St a1 ST98 § THH W il 2 af g1 @ s 1 w47 33at 15 {2 =1 2@ 2

#9130 Tu fameTl § ° HWE 39 B 99 A
(1) === (A) #HE (C) (2) Fa7 (A) @7 (B)

(3) &= (B) 3T (C) 4) (A). (B) #@F (C)

[Question ID = 2899][Question Description = Q21_GP_Set11_51]
1. 1 [Option ID = 11593]
2. 2 [Option ID = 11594]
3. 3 [Option ID = 11595]
4. 4 [Option ID = 11596]

Correct Answer :-
e 1 [Option ID = 11593]

17)
By selling 24 pens, a vendor lost the selling price of 6 pens. Find the loss percent
1 10% @) 15%

(3  20% 4 25%



L 10% @ 15%

(3) 20% (4) 25%

[Question ID = 2900][Question Description = Q22_GP_Set11_51]
1. 1 [Option ID = 11597]
2. 2 [Option ID = 11598]
3. 3 [Option ID = 11599]
4. 4 [Option ID = 11600]

Correct Answer :-
e 1 [Option ID = 11597]

18)
Given below are two statements :

Statement I: If two trains of length x km and ¥ km are moving in the same direction at
u kmph and v kmph respectively. where u >v , then time taken by faster

train to cross the slower train is equal to ol Jhrs
U+

\

Statement II : If two trains are moving in opposite directions at u kmph and v kmph, Then,
their relative speed is equal to (1 +v) kmpbh.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
() Both Statement I and Statement IT are false
(3 Statement I is true but Statement I1 1s false
(4) Statement I is false but Statement II 1s true

4= 3 FoH fam o #

w (D): 32 x Bl sy ffi. sme i 31 el v A o 4 @mEwme o R /E R
v 6.1 /g, 1 Td ° el TR WS TR ow v, 91 69 T @ S Jiel st gay e T |

sgi B Ry . 3 4 x+v)y -
TeHaTH! IETEl 1 9R FH | o 99E 2 :( }1}1,
\u+U )

weF (D) : = 2 tomisar w .91 /9 3 v f6i. /9 $ 7fa & vw-ge i favdia G 8 we = w2
T Skt AT T &R (u +u) B /A

SR FY 5 AAF °, T {20 e fawen 4 8 5@ 3w == it

1 FRIARITATIE |

(2) w19 I3 578 2 |

(3) A I HeA 2, vt e 1L 56 2 |

(4) = I 70c 2, = e IO 2

[Question ID = 2901][Question Description = Q23_GP_Set11_51]
1. 1 [Option ID = 11601]
2. 2 [Option ID = 11602]
3. 3 [Option ID = 11603]



4. 4 [Option ID = 11604]

Correct Answer :-
e 1 [Option ID = 11601]

19)

The value of a mobile phone depreciates at the rate of 10% every year. It was purchased 3
vears ago. If its present value is ¥ 6561/, its purchase price was.

(1) T 8100/- (2) T 9000/-
(3) T 9100/- 4y T 9729/-

ot Hiemsel ®H 1 go7 10% 9fd a9 1 30 & =2 w1 7 | 39 qiwed w3 99 s @ifer @ 91| 42 35
TTaTSe B W aAAE 9 <6561/- T 2 | S F9 TeF 4 A7

(1) ¥ 8100/ &7™ (2) T 9000/- =74

(3 T 9100/- 774 (4) T 9729/-774

[Question ID = 2902][Question Description = Q24_GP_Set11_51]
1. 1 [Option ID = 11605]
2. 2 [Option ID = 11606]
3. 3 [Option ID = 11607]
4. 4 [Option ID = 11608]

Correct Answer :-
e 1 [Option ID = 11605]

20)
The least number by which 72 must be multiplied in order to produce a multiple of 112 1s
(1) 6 2 12
(3) 14 (4 18

112 =7 0= TR FH =d 72 =1 69 89 D& T ° T A1 7

(1) G & 12
(3) 14 4) 18

[Question ID = 2903][Question Description = Q25_GP_Set11_51]
1. 1 [Option ID = 11609]
2. 2 [Option ID = 11610]
3. 3 [Option ID = 11611]
4. 4 [Option ID = 11612]

Correct Answer :-
e 1 [Option ID = 11609]



21)

“Wherever there is smoke, fire 1s also present”. Which of the following statements 1s true

with reference to the above statement according to Nyaya philosophy?

(A) Smoke cannot exist without fire also being present there
(B) Fire causes smoke
(C) Universal fireness causes universal smokeness

(D) It asserts that there i1s a relation of concommitance between smoke and fire

Choose the correct answer from the options given below :

(1) Only (A) and (D) are correct (2} Only (A) and (B) are correct
(3 Only (C) and (D) are correct (4) Only (B) and (D) are correct

YT gt T 2 gw o i famme e 21 = 29 F e e weE % ged fefeiaa 0 5
FH-H FF TA A7

(A) = 1 IRl F W g H AT TA = 5o = |

(B) HATTH gAY EATIE |

(C) @A™ wAfiea FEYE Y39 F FEE |

e fau T ferem | 9 wE 3T R =P i

(1) %= (A) 7 (D) = 3 (2) === (A) # (B) & #
(3)  ad (C) iR (D) T 3 (4) == (B) #it (D) ## &

[Question ID = 2904][Question Description = Q26_GP_Set11_51]
1. 1 [Option ID = 11613]
2. 2 [Option ID = 11614]
3. 3 [Option ID = 11615]
4. 4 [Option ID = 11616]

Correct Answer :-
e 1 [Option ID = 11613]

22)

Given below are two statements ;

Statement I: The terms Valid’ and ‘invalid’ apply to arguments.

Statement IT : The terms ‘Cogent’ and ‘Non-cogent’ apply to statements.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3 Statement I 1s true but Statement II 1= false
(4 Statement I is false but Statement II is true



H= 2 v faw R

o ([): 92 99 #R ‘wEa’ = w9 AfEA & ge 8 B S #

Fod (II) : T2 W (FH2) AN HETE (FA-FE2) W UEN HAA % gey § R e |
W FUE T ATAF H, 19 20 T T § O 78 35 99 i

(1) Fw= [t M3 a3 2 |

(2) = I 3R I 3M o 2 |

(3) = L Hew 7, wited U 1L 59T 7 |

(4) = I 38T 7, =i 9 [[8c9 & |

[Question ID = 2905][Question Description = Q27_GP_Set11_51]
1. 1 [Option ID = 11617]
2. 2 [Option ID = 11618]
3. 3 [Option ID = 11619]
4. 4 [Option ID = 11620]

Correct Answer :-
e 1 [Option ID = 11617]

23)

Consider the serles — “animal. mammal. feline, tiger”. Which of the following statement/s
1s/are true with reference to this series

(A) It is 1n order of Increasing intension
(B) It 1s in order of increasing extension
(C) It 1s In order of decreasing intension
(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1) Only (B) is correct (2) Only (B) and (C) are correct
(3) Only (A) and (D) are correct (4) Only (C) is correct
w9 - FEE, AW, dse-asi, sm W fHEn HiHu| 58 @9 % G999 H O [HAefengd 8§ °

e [ e T 2R

(A) 7 9gd 5T AWA (SI9E) F A A 7
B) TEEdzefommEHFaAz
(C) 97 52d 50 A9 (SevH) FHA A 7

(D) =% ued v foane & A A B

Hi= fau o faReT § 9 @R 39 1 =P hifA

(1) === (B) =4l = (2) &= (B) 3l (C) w8 7
(8)  waw (A) 3 (D) w1 & (4) = (C) =l =

[Question ID = 2906][Question Description = Q28_GP_Set11_51]
1. 1 [Option ID = 11621]
2. 2 [Option ID = 11622]
3. 3 [Option ID = 11623]
4. 4 [Option ID = 11624]



Correct Answer :-
e 1 [Option ID = 11621]

24)

“All people who live in Varanasi are people who drink tea, and all people who drink tea are
people who like 1t. We may conclude. then. that all people who live in Varanasi are people
who like it. What is wrong with this argument?

(A) There 1s equivocation on the term “People who like 1t.”
B It commits existential fallacy
(C) It commits fallacy of exclusive premises.

(D) It commits fallacy of four terms.

Choose the correct answer from the options given below :

(1) Only (A) is correct (2)  Only (A) and (C) are correct
(3) Only (A) and (B) are correct (4) Only (A) and (D) are correct
gt | w1 A adt A oam fE 2, s R 9 rae e g o o8 1es w21 7 wm e

f5epTeT T & TR Ao 6 A 9 w0 9 S S S 9EE R B | SH a0 9 e 27
(A) wEETE CEm ST yhe wd 2 H S /A

(B) =EH HAfeTF FeardE 2 |

(C)  zuH = HTHIR 1 EeaToH 2 |

D) =EH 9E Y2 F EeATHE F |

4= fav o e o O O 3w = il

(1) FEE @A 2) = (A) =R (C) 7A 7
(3) FE (A) #(B) T E (4) = (A) 3T (D) =7 #

[Question ID = 2907][Question Description = Q29_GP_Set11_51]
1. 1 [Option ID = 11625]
2. 2 [Option ID = 11626]
3. 3 [Option ID = 11627]
4. 4 [Option ID = 11628]

Correct Answer :-
e 1 [Option ID = 11625]

25)

In which of the five steps of inference (anumana) in the Nyaya syllogism all the three terms
stand synthesized?

(1) Upanayva (2) Nigamana
(3) Udaharana (4) Hetu



= =9 ° A FUa T dd g o dofi fa = g sa 27

(1 3= (2 T
(3)  FEmE 4) =4

[Question ID = 2908][Question Description = Q30_GP_Set11_51]
1. 1 [Option ID = 11629]
2. 2 [Option ID = 11630]
3. 3 [Option ID = 11631]
4. 4 [Option ID = 11632]

Correct Answer :-
e 1 [Option ID = 11629]

26)
Whaich of the following 1s equivalent to 8 Giga bytes?
(1) 223 bytes (2) 23 bytes
(3) 230 bytes (4) 278 bytes

ffeafiga 9 9 F9-07 & T A & e 27

(1) 223 9132 (2)y 234932

(3) 230 9132 (4) 2% «Ee

[Question ID = 2909][Question Description = Q31_GP_Set11_51]
1. 1 [Option ID = 11633]
2. 2 [Option ID = 11634]
3. 3 [Option ID = 11635]
4. 4 [Option ID = 11636]

Correct Answer :-
e 1 [Option ID = 11633]

27)

Internet Explorer and Mozilla Firefox are :

(1) Web Portals (2) WWW browsers
(3) Search Engines (4) Compilers



(1) == 9@= (2) WWW srEsn
(3) ==z (4) FEOEER

[Question ID = 2910][Question Description = Q32_GP_Set11_51]
1. 1 [Option ID = 11637]
2. 2 [Option ID = 11638]
3. 3 [Option ID = 11639]
4. 4 [Option ID = 11640]

Correct Answer :-
e 1 [Option ID = 11637]

28)

Identify the correct order of development of the following storage devices in the ascending
order of their emergence.

(A) DVD

(B) CD-ROM

(C) Magnetic Tape
(D)  Floppy Disk

Choose the correct answer from the options given below :
(1)  (C), (D). (A), (B) (2) (D). (C). (B). (&)
(3 (B (D). (0. A 4) (C). (D), (B). (A)

FMETATEd =2 T=asd] 1 39% 3299 19 & H@q] ANE %6 9 M= Firaw |

. ]

(&)  SidtE.
(B) Hi. 3. TE

(C) ®ufe=w 29

(D) A TEEE

= feu 0 el § O TR 390 W =94 i

(1)  (C). (D). (A). (B) (2) (D). (C). (B). (A)
(3  (B). D). (C). A @) (C). (D). (B). (A)

[Question ID = 2911][Question Description = Q33_GP_Set11_51]
1. 1 [Option ID = 11641]
2. 2 [Option ID = 11642]
3. 3 [Option ID = 11643]
4. 4 [Option ID = 11644]

Correct Answer :-



e 1 [Option ID = 11641]

29)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Internet is one of the popular services offered on the World Wide Web
(WWW).
Reason (R) : The WWW 1= the universe of network — accessible information.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 1s false but (R) 1s true

Fr 21 A fau o E, vk AfusweE (Assertion A) ® =9 ¥ feifigd # A1 580 38% %10 (Reason R) #

A
ATHFIA (A) 222 9o 913s 39 (WWW) T F21 F0Eil SHarel U ARl H3a1 7 |
F (R) : WWW 22 F 197 5 754 At a1 1 0F =7 S8 2 |

IRIF FA F A °, = B o T 1 9w o 9w i

(1) (A 3R R) A T3 & 3R (R), (A) Fi & = 2 |
(@  (A) 3R (R) 2 T B, A (R), (A) F T8 =men 798 2 |
(8 (A =T 2, @i (R) 989 2 |

4) (A 3T B, @ ((R) o3 2

[Question ID = 2912][Question Description = Q34_GP_Set11_51]
1. 1 [Option ID = 11645]
2. 2 [Option ID = 11646]
3. 3 [Option ID = 11647]
4. 4 [Option ID = 11648]

Correct Answer :-
e 1 [Option ID = 11645]



30)

Match List I with List IT

ListI List IT
(Digital Initiative) (Objective)
(A) e-Vidwan (I) Digital-learning environment for
design
(B) e-Kalpa (I) Subscription—based scholarly

information (e-books and e-journals) at
lower rates.

(C) e-Yantra (III) Expert Database and National
Research Network
(D) e-Sodh Sindhu (IV) Spread education in Embedded

systems and Robotics

Choose the correct answer from the options given below :

(1)  (A-ID. B)-AV), (C)-(D). (D)D)
(2)  (A-aD. (B)-D). (O)-aV). (D)-IL)
(3)  (A-ID. (B)-D). (C)-(IV). (D)-AI)
4 A)-D. B)-II), (C)-IV). (D)-dI)

A1 % =19 g0 = e Fiw

T I T
(A) F-fagm @ sAfiweT =q fsfaea afam wamse
B) I-F= D) == T W Iew-INIIE AeIET H
(3-TFeh #R $-Tf)
(C) == (L) Taores szmm 3N T8 FaEa J2a
(D) F-wmy fayg (IV) Teegg i et 9 af-faa = e
= fau 7 fempemt F @ wE 3T 1 == Fifaw

(L A-IID). B)-IV). (C)-0). (D)-(II)
2)  A-ID. B-1). (O)-aAV). (D)-1ID)
(3  (A)-IID). B)-D). (C)-(IV). (D)-(I)
4 (A)-D). (B)-I), (C)-(IV). (D)-(II)

[Question ID = 2913][Question Description = Q35_GP_Set11_S51]
1. 1 [Option ID = 11649]
2. 2 [Option ID = 11650]
3. 3 [Option ID = 11651]
4. 4 [Option ID = 11652]

Correct Answer :-
e 1 [Option ID = 11649]



‘To conserve and sustainably use the oceans, seas and marine resources’ — 1s the aim of
sustainable development Goal number :

(1) 10 2y 12
(3) 14 (4) 16
TETHIR, WEE 3T THZ HEEAT S ST 1 SR SR TaRIE IR wE SO TEw

AT T W v B 7

(1) 10 2 12
(3) 14 (4 16

[Question ID = 2914][Question Description = Q36_GP_Set11_51]
1. 1 [Option ID = 11653]
2. 2 [Option ID = 11654]
3. 3 [Option ID = 11655]
4. 4 [Option ID = 11656]

Correct Answer :-
e 1 [Option ID = 11653]

32)

According to composition (%) of typical fine continental aerosols. identify the correct
sequence in decreasing order.

(A) Sulphate
(B) Ammonium
(C) Organic carbon

(D) Elemental Carbon

Choose the correct answer from the options given below :
H W= C)=>B=>D 2 A=Md=(C)=D
(3) (C)=(A)=([B)= (D) 4 (©=[D)=(>B)=A)

fafere g werdifa aEfEaeal F wfawm (%) 992 & AN, TR AIE] 00 i TaEE i

(A) E=Ee

(B)  wmitEH

(C) =7 Free

(D) e A

Hr= fou e famemi 9 | wE S 9T

1) @WA=O=>B=D 2 A@=>3®=(0)=D)

3 (©)={A) =B =D (4) (C)=(D)=(B)=(A)



[Question ID = 2915][Question Description = Q37_GP_Set11_51]
1. 1 [Option ID = 11657]
2. 2 [Option ID = 11658]
3. 3 [Option ID = 11659]
4. 4 [Option ID = 11660]

Correct Answer :-
e 1 [Option ID = 11657]

33)
Point sources of water pollution are :
(A) Underground coal mines
(B) Run-off from farm fields
(C) Sewage treatment plants
(D) Run-off from roads and construction sites
(E) Power plants
Choose the correct answer from the options given below :
(1) (C). (E) only (2) (A), (C), (E) only
(3) (A), (C). (D), (E)only (4) (B). (C), (E) only

(A)  9FE FHiEe @ e
(B) @A 9 7 F WA

(C) A== TMeA T

(D) oo AR FO T O e wea
(E) fogd ==

= faw 1o ool 8 @ |t I w0 == Fifaw

(1)  =a= (0). (B) (2) Fad (A). (C) =1 (E)
(3)  Fa (A). (C). (D). (E) (@) a4 (B). (C) &1 (E)

[Question ID = 2916][Question Description = Q38_GP_Set11_51]
1. 1 [Option ID = 11661]
2. 2 [Option ID = 11662]



3. 3 [Option ID = 11663]
4. 4 [Option ID = 11664]

Correct Answer :-
e 1 [Option ID = 11661]

34)

The optimal range of wind speeds for wind power generation 1s :

(1) ~32 — 40 m/s (2) ~24-30m/s
(3) ~16—-22 m/s (4) ~4-12m/s

UaH FA1 309TEA 5 F41 9] 70 i SEAH i B -

(1) ~32—40./9. (2) ~24 — 30 Hi./4.
(3) ~15-224i 4. (4 ~4-—124iM4.
[Question ID = 2917][Question Description = Q39_GP_Set11_51]
1. 1 [Option ID = 11665]
2. 2 [Option ID = 11666]

3. 3 [Option ID = 11667]
4. 4 [Option ID = 11668]

Correct Answer :-
e 1 [Option ID = 11665]

35)

In the international Solar Alliance Mission, these entities are corporate Partners from India :
(A) National Thermal Power corporation

B Power grid corporation

(O State Bank of India

(D)  Rural Electrification Corporation

(E) Indian Renewable Energy Development Agency

Choose the correct answer from the options given below :
(1)  (A). (D). (E) only 2) (A, (C), D) only

(3 (A). (B). (D) only @ @A), (B). (D). (E) only



SIS Hiel AAEd 9o | Ferfaiad geum gng 9 $rane 9@ #

(A)  TEEA A FH
(B) TR FAANTA
(C)  umdE =2 &%

©) o e

(E)  9rdE Fa=iE 91 [ oo
fr fou v fawedi ° 9 98 39 = =994 Fifao

(1)  =ad (A), (D). (E) (2) === (A). (C). (D)
@)  #F== A). B). (D) @ F= (A). (B). D). (B)

[Question ID = 2918][Question Description = Q40_GP_Set11_51]
1. 1 [Option ID = 11669]
2. 2 [Option ID = 11670]
3. 3 [Option ID = 11671]
4. 4 [Option ID = 11672]

Correct Answer :-
e 1 [Option ID = 11669]

36)
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A) :  Although in terms of number of publication of research papers India is
quite ahead of many countries, its position in world Ranking of
Universities is quite low.
Reason (R) : The gquality of most of the research papers published by scholars from

India is not very good.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
2 Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct



= 37 e faw o 2 ;. ww ATSERYE (Assertion A) ® ¥ 4 foifiga # 41 80 35% #A (Reason R) &

=0 H

HAfiFyE (A) : T ST O % W ] GO 6 ey H YWA sgd @ 29§ Hrhl AT E, 5E
fava = favataenem #i fF 9 == = A= 2 )

7 (R) : arHE 9g 31 % TR AT T T TMUT=cdl S5 EEAE | 'F"I

IR A F AT H, " E T e 4 | HeE 9T S o 99 I

(1) (A 3R R) 4 TF E 37 (R), (A) Fr TF = 2
(2  (A) ¥R (R) = =2 7 = (R), (A) F =72 =3 71 2 |
(3) (A =# 2 = (R) 921 T8 7

4  (A)TE E 2 R (R) TR

[Question ID = 2919][Question Description = Q41_GP_Set11_51]
1. 1 [Option ID = 11673]
2. 2 [Option ID = 11674]
3. 3 [Option ID = 11675]
4. 4 [Option ID = 11676]

Correct Answer :-
e 1 [Option ID = 11673]

37)
In which text among the following. importance has been given to multi-disciplinary
education?
(1) Abhigyan Shakuntalam (2) Rig- Veda
(3 Upanishad (4) Kadambari

Ffefaa ® 9 fam wa® ® wp-favas e & oo aae fm smar 27

(1) AR IMFaed (2) FoEE
(3) =UHEe (4) =Frgad

[Question ID = 2920][Question Description = Q42_GP_Set11_51]
1. 1 [Option ID = 11677]
2. 2 [Option ID = 11678]
3. 3 [Option ID = 11679]
4. 4 [Option ID = 11680]

Correct Answer :-
e 1 [Option ID = 11677]



38)

Given below are two statements :

Statement I: Women research scholars find 1t difficult to cope with the dual
responsibilities of research activities and family responsibilities.

Statement IT: There is a significant drop out of the women research scholars in our
country.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I 1s correct but Statement IT is incorrect
(4 Statement I is incorrect but Statement I is correct

Fu ([):  HiEeAT 99 SE WY TGEEE S aiEntes TeiE % 2wt SoEiaed & e 0 wie
=l HTHAT FAT E |

F9F (II): FAW 391 § Aigen MasEa @6 (709 F 4= 1 #9205 57) 5= el f 5 w6 0w
7

ST T % A 5, A9 150 T fawenl § 9 weE 3Uge 39 0 99 i

(1) = 3R IS =9 2 |

@  F I 3AR I 3E Tem 2 |

(3) = 1991 2, S #ya [l 7=d 2 |

(4)  FE I7em 2, ST w94 108 2|

[Question ID = 2921][Question Description = Q43_GP_Set11_51]
1. 1 [Option ID = 11681]
2. 2 [Option ID = 11682]
3. 3 [Option ID = 11683]
4. 4 [Option ID = 11684]

Correct Answer :-
e 1 [Option ID = 11681]



Match List I with Laist IT

List I
(A) Charak
(B) Sushrut
(C) Varahmihira

(D) Kanad

Last IT
(I)  Physics
(II) Medicine
(ITI) Surgery

(IV) Astronomy

Choose the correct answer from the options given below :

(1)  A-D. B)-IV). (C)-ID. (D)-(III)
(2) (A, (B)-(D). (C)-(IV). (D)-(II)
(3  (A-ID. (B)-(IID. (C)-AV), (D)-(D
4  (A-IV), (B)-ID). (O)-(D. (D)-(I1I)

TH1-1 % =1 g=1-11 =1 faeam Hifae

.1

4 5u T ST 5 | TR 39 O 999 i

1) A-@. B)-IV). (C)-II). (D)-(III)
(2  A)-dI). B)-@. (C)-aV). (D)-II)
(3)  A)-aD. (B)-(III). (C)-IV), (D)-(I)
4  A)-AV). (B)-dD. (C)«(D. (D)-(ILI)



[Question ID = 2922][Question Description = Q44_GP_Set11_51]
1. 1 [Option ID = 11685]
2. 2 [Option ID = 11686]
3. 3 [Option ID = 11687]
4. 4 [Option ID = 11688]

Correct Answer :-
e 1 [Option ID = 11685]

40)

Which among the following are the objectives of higher education?
(A) To educate every citizen

(B) To promote economic growth

(C) To improve the image of the country

(D)  To promote critical thinking

(E) To compete with the neighbouring country.

Choose the correct answer from the options given below :
(1) (A). (C) only (2) (B). (C) only

(3)  (C). (D) only (4) (B). (D) only



FAfefaa § 9 #i4 3=3 e & =299 &
(A) T AN e e |
(B)  =iUF Fhg F TcHEd FAT

(C) == = fa =t gamw |

(D)  ATAEATCEF TS ] TeETE T |

(E) TS 29 % Ty wiegE] |

H= 120 U faeal 0 ° TE 39 w0 =9 Fie

(1) === (A), (O) (2) Fa4 (B). (O)
(3) @A (C). (D) (4 == (B). (D)

[Question ID = 2923][Question Description = Q45_GP_Set11_51]
1. 1 [Option ID = 11689]
2. 2 [Option ID = 11690]
3. 3 [Option ID = 11691]
4. 4 [Option ID = 11692]

Correct Answer :-
e 1 [Option ID = 11689]

Topic:- 05th_Set11_2021 Shift 2_C

1)



Read the following passage carefully and answer question

The declaration by the World Health Orgamsation, (WHO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health hody has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 15
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigea.
The achievement 1s all the more remarkable as 1t comes when the world 1s 1n the grip of a
virus which 15 challenging people, governments, health bodies and the medical fraternity.

The campaign agamnst polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and 13 a live threat are Pakistan and
Afghamstan. There 13 no cure for polio which causes 1rreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaceination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 15 still a serlous
problem 1n Pakistan and Afehamstan. India, which once had the highest case load m the
world, was declared polio-free 1n March 2014.

Which landmark achievement was declared Historic’ by the WHO?

(1) Coming together of WHO and UNICEF to launch vaccination programme.
(2) Polio-free Africa

(3 India becoming polio free 1n 2014

(4) All the countries of the world becoming polio free.



v T T2 (S0 va o11) i 7% 9mn {6 g s aiges uifeE e @ qed 2 R, #HE
Wﬂﬁmmwm?hvmmmnwwmmww | Tava ey e | =
TEl B9 4 UfqEneE e ® oEith 2012 § 5@ 9EGW H fava ® Fer ditern Amen i s s o |

IR % T R SN R % S e TR uiea B e & 6 anhee % @l 47 290 49 difern
1 3o 7 AT E | AW a9 || e, g9 O B ot 29 0 uiferEn w1 i A wmE T8 o 2 | 9w 9
e SRI-TET B T SEFT H{GH AEAT WA A AT| AR SUSsd 98 AR i AEeayot & W6l 2 W
fava v amrm i 992 4 2 20 gEn 91 1 = ot | S 9 Serayg dedt gefaEn of s wean
mﬁ%wmﬁwmfm|wqﬂﬂﬁm? AFATE % FR B AUEEar A

B AYUG] THE UF WIS dl heidl &, A gHE 41 | T8 Uil S S § st ff e s
2 | WA WE W UF waE fava o gaitas aifern o At 9, 39 4 2014 ° iferdl god =iy e v

(1)  Frhrm HEEa Tl 9F T 7 [Gva e 58 AN JHEE w0 A S |
(2)  Wifert gaa sThi
(3) WA #7199 2014 ° Uifer g9 76

(4)  Tawa = |l 290 F1 e gE B
[Question ID = 2924][Question Description = Q46_GP_Set11_51]
1.1

[Option ID = 11693]
2.2

[Option ID = 11694]
3.3

[Option ID = 11695]
4.4

[Option ID = 11696]
Correct Answer :-
o 1

[Option ID = 11693]



Read the following passage carefully and answer question

The declaration by the World Health Orgamsation, (WHO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health hody has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 15
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigea.
The achievement 1s all the more remarkable as 1t comes when the world 1s 1n the grip of a
virus which 15 challenging people, governments, health bodies and the medical fraternity.

The campaign agamnst polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and 13 a live threat are Pakistan and
Afghamstan. There 13 no cure for polio which causes 1rreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaceination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 15 still a serlous
problem 1n Pakistan and Afehamstan. India, which once had the highest case load m the
world, was declared polio-free 1n March 2014.

Why polio vaccination is important for WHO?

(1) There 1s no cure for polio.

(2) Pakistan and Afghanistan have the most polio afflicted population.
(3) The failure of vaccination programme 1n many parts of the world.

(4) The large amount of money invested in the programme.



fava s @ed (559 wa #l) | == =Giwon 6 g s diges qifeEml aEw @ g9 7 T R, 3w
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(3) I7d & 3F 5§ FR s e |

(4) FTIFH T FTEN ST T 5 |
[Question ID = 2925][Question Description = Q47_GP_Set11_51]
1.1

[Option ID = 11697]
2.2

[Option ID = 11698]
3.3

[Option ID = 11699]
4. 4

[Option ID = 11700]
Correct Answer :-
o 1

[Option ID = 11697]



Read the following passage carefully and answer question

The declaration by the World Health Orgamsation, (WHO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health hody has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 15
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigea.
The achievement 1s all the more remarkable as 1t comes when the world 1s 1n the grip of a
virus which 15 challenging people, governments, health bodies and the medical fraternity.

The campaign agamnst polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and 13 a live threat are Pakistan and
Afghamstan. There 13 no cure for polio which causes 1rreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaceination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 15 still a serlous
problem 1n Pakistan and Afehamstan. India, which once had the highest case load m the
world, was declared polio-free 1n March 2014.

The countries still afflicted by polio are 1n :

(1) Balkan region (2) Latin America
(3) Asia (4) Sub-Saharan area
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Read the following passage carefully and answer question

The declaration by the World Health Orgamsation, (WHO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health hody has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 15
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigea.
The achievement 1s all the more remarkable as 1t comes when the world 1s 1n the grip of a
virus which 15 challenging people, governments, health bodies and the medical fraternity.

The campaign agamnst polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and 13 a live threat are Pakistan and
Afghamstan. There 13 no cure for polio which causes 1rreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes

from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaceination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 15 still a serlous
problem 1n Pakistan and Afehamstan. India, which once had the highest case load m the
world, was declared polio-free 1n March 2014.

The world wide campaign for eradication of polio was launched by

(1) International civil society (2) Inter-governmental agencies

(3) UN agencies (4) US agencies
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Read the following passage carefully and answer question

The declaration by the World Health Orgamsation, (WHO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health hody has rightly called 1t “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 15
after a long programme of vaccination and survelllance that 1t has now been declared that
polio has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigea.
The achievement 1s all the more remarkable as 1t comes when the world 1s 1n the grip of a
virus which 15 challenging people, governments, health bodies and the medical fraternity.

The campaign agamnst polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and 13 a live threat are Pakistan and
Afghamstan. There 13 no cure for polio which causes 1rreversible paralysis, mostly among
children, and tens of thousands of people have suffered from 1t. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaceination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and climatic challenges and difficulties like
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 15 still a serlous
problem 1n Pakistan and Afehamstan. India, which once had the highest case load m the
world, was declared polio-free 1n March 2014.



What were the main challenges against polio vaceination prgrammes?
(A) Non — availability of Vaccine

(B) Paucity of funds

(C) Spread of disinformation

(D) Logistics

Choose the correct options:
(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (D) only (4) (C) and (D) only

foa Twea wEA (3509 v ) 1 == G 5 @ o ages qifedml = ¥ ga w1 R, 3HE

TEF | Tl A T TH SAN F fawg dTaF @ 7 vh Ascan qie 1w 7 | fava wmwe FeE T
uFl =q 0 ‘OfqEias wa @ o=t 2012 § 5@ "R H fava % %er diferml Amen hi A wen o |
PRI o o w1 FTE e o9 4E gifad e T E T snhie % o 47 39 4 gifer

=1 T BT E | AW 99 wid T, 99 = el o 2w | 9ifem 1 S Aaeen |@Ed T8 A B | 9n 9y

Teel SRI-El i § saed #Alan AT WA A 91| AR Sueisa a9 R i geeaygel & Sl 2 W
forra vk ammm fit =0z 4 2 o TER 99 F T ot | Simies AR oy gedt gHEn ff s s e
off 5 Zi1 WHEET GHEET 9% HE T A0 Tad AEERT AT T8 %A 6 A § A9Esdr /s

FIAT 7 AU SHE UF AT = hetdl 2, 39 FEE A | T8 Ui AR AR | o §i e s
2| WA e W UF THA A | Hai gifer % 2ee 9, 39 416 2014 § wifer g9 aiea e e |

Uifer SRR I o+ faeg g SHifaA wiA-di off 7

(A)  FR =T s
B)  FfeEn =i

(C) o gET T 9ER

(D)  =HEAE

HEl 307 F F597 FilA0 :

(1) === (A) 31 (B) (2) =Had (B) 31 (C)
(3)  Faw (A) 3R (D) (4 Fa= (C) ¥t (D)

[Question ID = 2928][Question Description = Q50_GP_Set11_51]
1.1

[Option ID = 11709]
2.2



[Option ID = 11710]
3.3

[Option ID = 11711]
4. 4

[Option ID = 11712]
Correct Answer :-
o 1

[Option ID = 11709]



